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1. Which of statements are True?

(i)  Oectane number increases with chain length.

(i1) Cycloalkanes have higher Octane number than straight chain
alkanes.

=
(111) Alkenes and aromatic hydrocarbon have higher Octane
number than straight chain alkanes.
(iv) Branched chain alkanes have lower octane number than
straight chain alkanes.
(A) (i) and (iv)
(B) (i) and (ii)
€T (i) and (i)
(D) (i), (i1), (iii) and (iv)
(E) Answer not known

Spasm_supdieh ergy sflwimen subg 7
(1) ol Gert smbid Cung 4G srar enrdmg.

(i) Gognen blsamsmerd s ggnd ey HdCsdsEnss = LMES
G eer e,

(ill)) Cuprren o Csdsamad sriggh Sdlaserd HGrmomics
gl Grr sMTUESERD S5ls S ECL 6 arar Glamam_g).

(iv) Cmrren maCsdtsamead sriggud Seersd ceiw shuddli Garid
SGaaEaT Gapanar &5 e aam GETam g

(A) (1) wppn (v)

(B) (1) wppwe (ii)

(C) (i1} wpg {iii)

(D) (), (1), (i) whpb (iv)
(E) eflen Qsflwableens:
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9. Match the following hormone with the disorder caused :

(a) Insulin 1. Cushing’s syndrome
(b) Thyroxine 9. Diabetes insipidus
= (¢} Glucocorticoids 3. Acromegaly
(d) Growth hormone 4. Goitre
5.  Diabetes Mellitus

(@ ® © @
(A) 5 1 2 3
(B) 2 4 3 1
wer 5 40 1 3
m 2 4 1 3
(E) Answer not known

apmiGLoTensmeT el EamLnSELD CrmisEam® Gunmsss :

(a) Eerselien 1. (gepdii e Gymb
(b) egyrddlen 2. enLwmilsh GendlG e
(¢) wEensGarsngsmil 3. maGrmblsmed
(d) euerié#l pomiGmne 4, sp@a
5. fffle Gemu

(@ (b) (o) (d)

(A) 5 1 2 3
B) 2 4 3 1
(C)y & 4 1 3
m 2 4 12 3

(E) ellen Qsfluciicrene

CCSEI-IAP26 4


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Choose the right matches :

(1) Carotenoid —  CssHnOsN Mg

(2) Chlorephyll'a’ — GCi;iHp0O:NMg

(3) Chlorophyll Y — CizHip0N Mg

(4) Xanthophyll —  CyHy3O:Mg

(A) (1) and (2) are correct (B) (3) and (4) are correct
(2) and (3) are correct (D) (1) and (4) are correct

(E) Answer not known
sflwrsld dunedsiu’ smgs Gaipllshssan

(1) aGrmgenmi® —  Cs55Hx0:N Mg

(2) usswunb ‘s’ — C5sHp0:N Mg

{3} ué&swh b’ —  CssHoppOeN Mg

(4) sniGsrtSd — CipHp0:Mg

(A) (1) whmb (2) sfurerenay (B) (3) wpmnb (4) sflwuneneey
(Cy (2) LT (3) sflwrareney (D) (1) whpsd (4) sflurenasa

(E) efien Gufwshdeaa

The Nobel Prize in Medicine was awarded to Vietor Ambros and
Gary Ruvkun for their discovery of

(A) Expression Sequence Tags
Micro ENA
(C) DNA micro array
(D) BNFP's
(E) Answer not known
s i hCoren wogh SGT reumer HACwTHer iz sen@inlyssrs
InimEseusEd Cmrudh eflima suyphisiulLg?
(A) Gesaflouni euflas wry @Hlstsmhad
(B) e gyit.eren.q. (micro RNA)
(C) w.ererg. pen e
(D)  erev.erar. 9. (SNP's)
(E) dlen Ggfluahichenas

il CCSEI-IAP25
[Turn over


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

5.  Which of the following statements are true about erew selection and
training for “Gaganyaan Mission™?

(1
(11)
(111)

(A)
(B)
(C)

i

(E)

Crews are selected after clinical, psychological and
aeromedical examination.

Mission-epecific training will be conducted at ISRO,
Trivandrum.

Selected astronauts will undergo their generic spaceflight
training in Yuri Gagarin Cosmonaut training centre, Russia.
(1) and (i1) only

(i1} and (iii) only

(111) only

(1) and (iii) only

Answer not known

Geareummd  sabpsefid, o@a EsamITET ellan@euefighl L eirisamend
Caipsfssd wppd Lipd Eise sfiurer ambpsd?

(i)

(i1)

(in1)

(A)
(B)
(€)
(D)
(E)

e Lwen  ehintsdr, Wmsge. oereflud  wphpib sihwren
msgen uitsrsmasesss pts Caipl@spaestuGsapart.

HerQaeffc L ud@pd,  @eauGor  (ISRO), ApauenhsL|nSle
peoL_GumSDS.

Cerey Gelwouc  eflarleael vwew elgisar,  Gurg ffl .
araaefty vwen udpfliear paeuneiid eawt Wil ssrfdr
e Gleuafitl Lwenf] LABH @wugBid Cupemied

(i) wpmib (i) LG
(if) whgid (i) v Ed
{111) wi(Hib

() wpmib (i) Lo
ehlan Ggfustlaaa
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THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE
6.  Which of the following statements are correct abouy ™EEXPERT COMMITTEE FOR FINAL DECISION

(i) PFAS is per and poly fluore alkyl substances. fscsaal uomo skoL. Gu (pasinsrs
UV G(DENAT (106l SIS ALILIL 2 eirens).

(1) It 1s used in paint industries.
(i1i) FPFAS are endocrine disrupters.
(A) (i) and (1) are correct (B) (i1) and (111) are correct

(C) (i) and (iil) are correct (1) (i) only correct
(E) Answer not known

Epssmapid smbnsésatio PFAS upflu sflwner spmiéseaer Caiplshassayb.

(1)  Senig.een. erarug AuislEslyr whpn oralloECm gy dasd
Gluims I maT b,

(i) @y ewdranyds Quiddn) Genidsreesald vweuBssiuGEpg.

(1) Eg prenfldear srnllsmeans MEmaadEh Spar e a1,

(A) (1) wpge (1) sfureree (B) (i1) wpgub (11i) #flwrarena
(C) () whgb (1ii) sflunsraa (D) (1) wHib sfwreng
(E) &fen_ Qsflweldena

7.  The biological oxygen demand is the amount of dissolved oxygen

required by in water. A
u&( Microbes (B) Plants
(C) Ammals (D) Seaweeds
(E) Answer not known |
e uGrCasfluialld sgbellmpar Crana eramug, Bfid LI ST i 647
Gumg EETOUGRD Spseilipen are] SLEib.
(A)  peswgmdl (B) Qegsen
(C) eflerugmsan (D) s punflssn

(E) eflen GefMwehldana
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[
8 Which of the following is the first Indian Geo-Stationary Satellite?

INSAT 3D (B) LANDSAT 8

(C) IKONOS1 (D) QUICK BIRD
(E) Answer not known
Genaumpeuamaipfld wg apad @pdlu deilsnt QawpensbGamar 7

(A) INSAT 3D (B)y LANDSAT &

(C)
(E)

[KONOS 1 (D) QUICK BIRD
ehlen_ (@Daflwatldena

9. Who among the following tribes act as cattle keepers?

(A

(E)

Dhimaor (B) Kewats
Rawats (D) Bhils
Answer not known

e LphigiguienTid wir srapen. pgmoflCinertsens EeuefidlpmseT 2

(A)  Swmi (B) Gaem s
(C) peur e (D) Hevaiv
(E) eflen Qafluciidvena
10. Assertion [A] : Development of a nation depends  on
infrastructure facilities.
Reason [R] . Transport and communication are the back bone

P

(B)
(C)
(D)

of economic development.
[A] and [R] is true and [R] is correct explanation for [A]
[A] is true but [R] is {alse
[Al, [R] is true but [R] is not the correct explanation of [A]
Both [A] and [R] are not correct

(E) Answer not known
spm [A] B e euanfridl e sl L enwoiiy asflanl sribEg.
smpamih [R] : Cunkgauris wHpd QzreaGsnfy, CurGamsTT

(A)
(B)
(C)
(D)
(E)

auarirsFludlen apgEEgbUTED.
[A] whmib [R] sAGw, [R] ssrer las sfwrar shlenssih [A] apsib.
[A] &M gpammes [R] meum
[A], [R] sACw, agemms [R] [A]ssmar sfiwmen elanssindoa
[A] wpms [R] @reerfn seum
ellenL. Glfushidena

CCSEI-IAPZ5 8 B


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

11. Match the following type :

Match correctly the river and its places of rises.

(a) The Krishna 1.  Garwal Tibet border
(b) The Alaknanda 2,  Central Himalayas
(¢} The Gandak 3. Tibet
(d) The Brahmaputra 4,  Sahyadris
THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE
(2) (b) () (@ THE EXPERT COMMITTEE FOR FINAL DECISION
(A) & 2 4 1 it o X
gsGaerail bmmID aflsmL. @midl (g ellm&ns
® 1 4 i 3 mmﬂm (LO6H sMEUSSLUILIL 2 6iTeNS)|.
(C) 2 : ) 3 4
Dy 4 1 4 5

(E) Answer not known

Semeupl elensmLIL &l LImhHE.
4T WHmD S o@D/ egh B Sl silwrs Burmis .

(a) Ameigem 1 sniveumed HALuS erdoena
(b) merspHEN 2 ing A @iwwnaa
(c) @mem& 3. HQug
(d) Spewysdor 4 Fuima e
@ ® ©@ O
(A) 38 2 4 1
(By 1 4 2 3
(C) 2 1 3 4
) 4 T P 3
(E) efen Gsfwebaana
p Y CCSEI-IAP25
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12. Arrange the following events in chronological order.

(i) Ahemadabad Mill Strike
(ii) Champaran Satyagraha
(iii) Kheda Satyagraha
(iv) Rowlatt Satyagraha

(D), G), (i), (v)
(B) (v}, (iid), (1), (@)
(C) (), (1), (i), (Gv)

D) (i), @), @), (v)
(E) Answer not known

sra suflenFliug. <o (HbEs.

(1) manwgiurs B Ceenea HOnSsh
(i) ebummen sgSwunrdlrsn

(i) Csam ssfwundysid

(iv) GQreel siAurdgso

(&) (i), (), (i), (iv)

(B)  (iv), (ui), (i1), ()

(C) (), (i), (iii), (iv)

(D) (i), (i), (@), (1)
(E) eflen Gaflweflcena

CCSEI-IAFP25 10
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13. How did education contribute to the Indian Renaissance?

(1)
(11)

Contributed Growth of Money

Promoting scientific learning

(111) Promoted social and cultural progreas

(D)
(E)

(1) and (111) only

Answer not known

Ehsw whoearéfass sdafluildar Lhisalllyy sduary e e Aalgg ?

(@)

(i1)

(111)
(A)
(B)
(€)
()
(E)

Liean eueniréFeny Ganfiss

-y fleflud yfle suariiflEsms

sapsl uerun(l werGanhnhd abull g
(1) wi {ub

(11) whmd (111) w1 @b

(ii) wn (b

(1) whmd (111) w Gub

siieni Glgfweticoana

11 CCSEI-IAP25
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14, Match the following : /

{a) Peshwa
(b) Amatya
(c) Sachiva

(d) Sumant

(a) (b)
(A) 1 2

B 1 4
N
2

D) 3

(E) Answer not known

(c)

3
2
4
1

i i N

(d)

Foreign Secretary
Chief Minister
Finance Mimster

Superintendent

Beraumaaraibennl QUTHSES
=

(a) Cuagemr
(b) symEHwit
(c) a&faun
(d) swps

(a) (b
(A) 1 2
B 1 4
(G 2 3
D) 3 2

(E) eflen @pfuciidama

CCSEI-IAP26

{c)

= k3 L3

—

2.
3.
4.

(d)

o - ==

Swebpm (B Clsaweut

(P SN DEFFIT
Sl weanbatt

savasraEiuumar
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15. Choose the right matches among type

(a) ‘Indian World’ Journal
(b) ‘Telegraph’ Journal

(¢} ‘Bengal Kirkaru' Journal
(d) ‘Caleutta’ Journal

(@) (B (o (d)

V{ﬁj 4 3 2 1
® 2 3 1 4
@ 3 1 4 2
m 1 4 2 3

(E) Answer not known

sfliurer eflaL sl Qummdsis
(a) '@Hfu ewsd Geb
(b) ‘Gielidlyny’ Bswp

(€) ‘Quhsrd Atssnm @b

(d) ‘sdsszt Qs

@ b @© (@
Ay 4 3 . 3 1
B 2 8 1 4
© 3 1 4 9
o 1 4 2 3

(E) dflen Qpfludaoma

1.

2
31
4

13

. i b =

J.8. Buckingham
Charles MaclLean
Mekenly

Duane

Gap.eralo. Lkfdismb

grireray Endalen
Qinsseradl

R ITaet

CCSEI-IAP25
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16. Reason and Assertion type : /

Assertion [A] : Cinema was becoming popular in 1940,
Reason [R] . Anna could achieve his ideals through Cinema
Artiats.

(&) [A] is true but [R] is false
‘Jﬂf Both [A] and [R] are true; and [R] is the correct explanation
of [A]
(C) [A] is false but [R] 18 true
(D) Both [A] and [R] are true, but [H] is not the correct explanation
of [A]
(E) Answer not known

gnyemih Wwhmh shn cuens

sbm [A] ;1940 sefié Aaflor dpuaions Qb
amypems [R] :  Saflor seagisd apob e sy EHol fubsmar
S (1P BEE)

(A)  [A] #f e [R] peugp

(B) [A]l wppr [R] @renpu &, Gogud [R] eemwig [A] &5 sfwren
dilar&swomgn

(C) [A] paup serrd [R] &
@) [Aln [Rlib &0, syenmas [R] erarugi [A] & sflunen dlardzminaa

(E) dflen Ggflwiahlcene

CCSEI-IAP25 14 [-3
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17.  Which one of the following is correctly matched?

(A) Champaran Agitation — Bal Gangadhar Tilak
Vﬁﬂf Ghadar Party - Lala Hardayal

(C) Ganapathy Festival - Annie Besant

(D) Home Rule Movement — Gandhiji

(E) Answer not known

Epsam_appier apss sbpé sfumst Qurmsson Qe »

(A)  sbugmer Sariss - Lne stisrgy et
(B) szi4 s04 - EUTEOT G e
(C)  sewufl vamgms - Seimertl D LiFem’

(D)  severmidl Gussi — sl

(E) eflen Gl g fwieh danen

18. In Tuticorin, Tamil Nadu, Subramaniya Siva Campaigned for strike

n 1908. r
(A) March — April (B) January — February
W February — March (D) April - May

Answer not known

1908 b e soSmoeic fHar SAGET G giETET  STESSE LG

urgme L gdhes Wrssrmh Gedgr,
(A) wrs - grage (B) gemaufl -~ @ugeuf
(C) duoraf - wris (D) guge - G

(E) &flen Qeflueicena

B 15 CCSEI-IAP25
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19. Which of the following statements are true?

(@)
(i1)

(iii)
(A)
(B)
(C)

e

(E)

The National population policy, was promulgated in April
1976.

Included provisions for health care, nutrition and more stress
on Education for girls,

The goal was an eventual average family size of two children.
(i) only correct

(1) and (ii) only correct

(i1) and (ii1) only correct

(i), (ii) and (iii) correct

Answer not known

\Gletreumil sifldmaseafld og e amawLTaTg?

(1)

(1)

(111)

(A)

(B)

(C)
(L

(E)

1976 arcimabled Cafw D& ST Qg e Ganerens
s emniufiss iUl L gl

@g ssrgmn, sl Frsg opnb G Eppmssaiien adalss Sds
apsdluggiann =afledpg.

Blgar @ade @nHuds Granh Gubassmars Qame. Fpnad @by
aTeuns @S-

(1) w GHib &M

(i) wpgus (i) G &
(i1) whmb (1i1) wHo
(i), (ii) whmo (iii) s
eflan_ @ gMuishlden

CCSEI-1IAP25 16 B
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20. Who founded the Satya Shodak Samaj in 18737 ~
\MT Jyoti Rao Phule

21,

(B)
(©)
(D)
(E)

Sri Narayana Guru
Pandita Ramabai
Dayananda Saraswati
Answer not known

AL Gangs somg-m 1873 @a Cempmeildmeun wimts

(A)
(B)
(©
(D)
(E)

Cegrdl et Ly Ga
Wb EromueET @
LIRTig S mumLimidl

punenhs seies
elileni Es e baa

Which among the following was the first Christian Ashram
established in South? /

(A)

C.F. Ashram at Pachalur

u’Br Christukula Ashram at Tiruppatur

(€)
(D)
(E)

Zion Prayer Center at Madurai
Dyana Ashram at Chennai
Answer not known

Spasramuaraupmier s Ombes ugAde fpecnn s dfieime oo
P ZAToD?

(A)
(B)
(C)
(D)
(E)

Hl.or. gy flmon, Lsgat
Ailevgime o, Smiggmr
FlSwirer Srrésenean enbwih, ot
dwimarm g Ao, Cednenen

chlen.. QsfAwaldeana

17 CCSEIFIAP25
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22 The Talaikota Battle was also called as S

(&)

(€)
D)
(E)

gemasCGemamL. Bumi

(A)
(B)
()
(D)
(E)

Toppur Battle

Rakahasi — Tangadi Battle
Battle of Rajagambira Rajyam
Battle of Kannanur Kuppam

Answer not known

ardrpil SEmpssUBEDE.
Cgminyft G

pregordl — Gt Gum

gy g Cuntr

senanggm @Luw Gumi

eilen @amfliusildena

93. Shivaji was crowned as an independent king at

£

(B)
(€
8
(E)

Raigad
Surat
Ahmedabad
Poona

Answer not known

Aaungd sghAT STHINS 1PigEH LU B

(A)
(B)
(€)
(D)
(E)

gL

1S

GO LOSTLIM

b ST

sften_ Ggflwshcena
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24. In the Indus Valley civilization the major commodities in Internal

25.

trade consist of P

(1) Cotton

(2) Lumber

(8) Grain and food stuffs

(4) Livestock

(A) (1), (2), (3) only correct (B) (1), (2), (4) only correct
V& (1), (2), (3), (4) correct (D) (1), (4) only correct

(E) Answer not known

fpg  sobael praflssdo apsdu gibpod QUi sars o e G
aunasflugdle smastiufiaus

(1)  umss

(2)  wmb

(3) cewey sraflumiser

(1) &ma NS

(A) (), (2), (3) b &A (B) (1), (2), (4) @ s

(©) (1), (2), (3), (1) &f (D) (1), (4) o @b &A

(E) el Qeflucidbeane

Which is/are the aims of a sound “Theosophical Society™?

(1)  Believes in Karma, Yoga and Indian Philosophy. »

(ii) Universal spiritual brotherhood.

(iii) To protect the society from evil practices,

(A) (1) only eorrect (B) (ii) and (iii) only correct
(i) and (ii) only correct (D) (i) only correct

(E) Answer not known

\SlrbLghmen SanLiuG e Gmrésh wng ?

(1) sner, Cursr, @edus shsieussdn By pibiSsens

(i) eesamdiu syenbs #LENETSmaiDh

() Bu peor eapsadmie sopsnusemsd LIS

(A @) @b = (B) (ii) whms (i) wi @i f

(C) (1) whgb (i) weFn «A (D) (ii) wi@Gub &

(E)  sfen GlzfMusldena
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26.

27.

Assertion [A] : The =zonal councils owe their origin to the
constitution.

Reason [R] . The zonal councils are the logical outcome of the
reorganisation of states on & linguistic basis.

(A) [A] and [R] are correct; and [R] is the correct explanation
for [A]

(B) [A] and [R] are correct; and [R] is not the correct explanation
for [A]

(C) [A] is correct; [R] is wrong
[A] is wrong; [R] 1s correct

(E) Answer not known

spm [Al T Loyl [l 5 6T oo T CombmsSie
erfuesmoldipEs smoliucfereg.

snyesin [R] . welwisn Leapilisar B oy Ciien @d  omblehisener
wméremniiLgen s fdwnen dlaarairdgLb.

(&) [A] eome [R] &, wppw [A] &g [R] efwinar aflendad
(B) [A] opmie [R] &, woppib [A] & [R] sflwumar ehlerbainea
(C) [A] offl; myeme [R] gaupi

D) [A] seugs spenmds [R] A
(E) eflen Opfwstldamea

Qexual Harassment of Women at Workplace Act was enacted in the
year

2013 (B) 2017
(C) 2014 M) 2016
(E) Answer not known

Ll msefla  Quers@ikg urdiud g pEgsd (@Ely oD
FULSHEIY, St e i) penL_si Lib @upniiu’ L e

(A) 2013 (B) 2017

(C) 2014 (D) 2016

(E) eflen. Geflwehldene
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28. Arrange the following events in chronological order.
1. Golaknath v/s State of Punjab
2. Keshvananda Bharati v/s State of Kerala
3. Minerva Mills Ltd. v/s State of India

4.  AK. Gopalan v/s State of Madras

&) 1,234
(B). 8,412

e 4,1,2 3
D) 1,3,24

(E) Answer not known

Epasm_aupenn sregpenpliLig, aflemstiufsss.
L. Gerexémng vis Lgnen’) wmBleon

2. Cssarenpg ungdl ¥/s Csperm wiflan

d.  Bemteun lda flifl Vs Gidu s

4, AK Csnrumeer vis BSR4

(&) 1,234

(B) 3,4,1,2

(©) 4,1,23

(D) 1,3,24

(E) ol Qufluehidane
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29. Match correctly with the Suitable Act.

(a) Preventive Detention Act (PDA) in India 1. 1971

(b} The National Emergencies Act was 2, 1974
signed into law by President Gerald Ford on

(¢) The Indo-Pakistan war 3. 1950

(d) Conservation of Foreign Exchange and 4, 1976

Prevention of Smuggling Activities Act

@ @® @ @
(A) 2 1 4
(B) 1 4 3
wels 4 1
() 1 2 3
(E) Answer not known

e b2 B3 L2

sfuren aufimeans CotpbllghHes.

(a) EkSu sHOY smaud FLLLD 1. 1971

(b) Csflu sasrsme s sEDE ClRIma- SGumiE 2. 1974
snsQwpdS L e

(€) @pCar—undleugrer Gy 3. 1950

(d) Qeuafipr & Ufeufssemer Lrgsriy LDHID 4. 1976

sLEg® Geuaunfsar SHUL LD

(a) () (@ (D
(A) 2 1
(B) 1 4
(Cy 3 4 1
(D) 1 2 3
(E) eflen daflwsildeaa

b T -
= B B3 Lo
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30. Consider the following Statements, Choose the correct answer :
(1) January 30tk is the Death anniversary of Annal Gandhi Adigal

(1) January 23% is the Birth Armniversary of Netaji Subash
Chandra Bose

(iii) April 14t is the Birth Anniversary of Annal Ambedkar
(iv) October 13 is the Birth Anniversary of Sardar Vallabhai Patel

(A) (i) and (ii) only correct
(B) (iv) only correct

(C) (i) only correct

BT (), (i), (iii) only correct
(E) Answer not known

Sipasn aunddutismer smEs, #fllirer alsnlenw Caihbls(hss,

(1) gemaufl g 30 suih Cal Sietrenned smhdiiesafer wenphs Heanomsb

(i) geraufl wrgd 23 i Hrer Crarg sunss spdrGuneveller Yngs
Hemoms b

(1ii) glged wrgn 14 b prer serard SibGussfcr HmEs SennmEn

(iv) stgrir aidaumi UG & Gps Herd s&GLmur 13 = LD

(A) (1) whHgb (1) w G s

(B) (iv) wi Hib &

(C)  (111) 1o b &

@) (), (i), (i) we @b o

{E} sftenL_ Q‘ﬁ.rﬁuaﬂd}mm
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31. Consider the Assertion (A) and Reason (R) and choose the correct

ANSWEr.

Assertion [A]

Reason [R]

A remarkable difference between China and India
was observed regarding mass politics around air
pollution control.

China employing the approach of Historical
Institutionalism to control air pollution.

vﬁg Both [A] and [R] are correct statement; [R] is the ecorrect
explanation of [A]
(B} Both [A] and [R] are correct; [R] is not the correct explanation

of [A]

(C) [A] is correct; But [R] is falze
(D) [R] is correct; But [A] is false
(E) Answer not known

Epaymn spm [A] wpgid smyeerh [R] eflesmanen mmgis. sfiuner dieniay

(B 1 ol o ) 5.
ampm [Al

snramb [R]

SNHE TSRl s RuURSsudo Femndlbed

‘@ pH el s an_Guw B (mEELD Bl @

CeuguirLmengl, Sgenar SbbEmesmny  Heyggean
sflumnEd edumg srar opadpg.

smim wrseel st RUUESHeSe Far eurarbl meuar
SIGIE (DL L e fids e e mgn”,

(&) [A] womb [R] edp Gren( sappud &4l [R] eremug [A] &@ sfwimean

chleT&mLnm LD

(B) [A] wpgs [R] eern @uen@ue ol [R] erdnig [A] @ sflwner

el er&si060a0

(C) [A] srarug sfl; [R] earug geupl

(D)  [R] erémug &M [A] eenug e
(E) eflen GEflusidens

CCSEI-IAP25
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32.  Which of the following are the ohjectives of Tamilnadu safe and
Ethical Artificial Intelligence Policy, 20207

(i) To establish guidelines for the evaluation of Al systems before
its rolled out for public use

(i) To provide restricted access to open data, data models and
computing resources

(iii) To promote investments in AIR & D in Tamilnadu
(A) (1) only

& (i) and (iii) only
(C) (i) and (ii) only
(D) (i) and (iii) only
(E) Answer not known

Epaumaiaraippidr ereneu mBppn LTgsTOLTe Wb Apflapen AsLh@E
Hietramilays Gsrarens, 2020 Glar Cpréstissr symn 1

(1) Qurgossefler LueuNigdE sawlousie et  Qsupos
Riamanila) qpenpsaerd Sparmie) Getuph auyfem' @ Grflopepsener
aiEss CaianEib

(1) Qeuefitiven. wien srayser,  sre  wrdfssr  oHD @)enarmyieys
BN ESERSS eamMuUUSGsOuL sgnwndlan aiphigsdh

(ii1) sflppm g Gsupms peaveanile; s rmusd whpn Guoburigbsre
apgelfeamar Fidsd

(A) @ i@

(B) (1) whmub (iii) e Gub

© @) wopw (i) v G

(D) () wogn (1) wefu

(E) eflen_ @sflwaicdena
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33.  Which is/are the objective/s of a Right to Information Act 20057

() RTI is empower to citizens, promote transparency and
accountability in the working of Govt.

(ii) The Act is a big step towards making the citizens informed
about the activities of Govt.

(iii) This Aet provides right to access information from public
authorities, which is guaranteed Art. 13 of constitution.

(A) (i) only (B) (ii) and (iii) only

J@r () and (i) only (D) (i) and (iii) only

(E) Answer not known

Aeéreumaanahper ssad Hfub e flewns sub 2005 @or Cordsiisenen
Qafiey Qeis,

i) @5 Eyossgss -aflsmmb  sefissd, ayrfen  GlFLdUmiige
QesefitiLen g ganenin whmib Gumpal e iena parkEeilliug b,

(ii) rfer Qeuaurpasr Gilss Gunssarbs AsfuliuGiuag.

(iil) @e msmeniar epiy 13-4 & o Ausflsaliul L Gnobs@Ensd,
Qungy siferisefifmbs seadsamer G o Menoei safiédns.

{A) (1) wub (B) (i) iy (111) @b

{C-}_ (1) opgad (1) w B (D) () whpud (1ii) wiHib

(E) e Qafluaildmea

34 Which among the following was the first state in India to constitute
an institution of Lok Ayukta?

{A) EKarnataka (B) Kerala
W@~ Maharashtra (D) Rajasthan
(E) Answer not known

@pdureiid Gand e dsrea Bl (psD wrfed sl 7
(A)  &irETL&N (B) Gagarr

(C)  nsmymeige Fm (D) Rrwgpevgmen
(E} oflen Qfhwsildana
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35. Which of the following statements are true about Election
Commission of India?

(1) Conduct elections to parliament, State Legislatures and to the
office of President and the Vice-President

(1) India's First Woman Chief Election Commissioner
Ms. V.5. Ramadewvi

(iii) India's first Chief Election Commissioner Mr. S.P. Sen Varma
(A) (i) only
(B) (1) and (iii) only
W€ () and (i) only
(D) (i) and (iii) only
(E) Answer not known

Hereumeuanaibmer @bdy Caisd spmamnuh gfsm siurmas TP,

(1)  urmenwermb, FLCGUp@sE  LHHID Bl LUTHS Sapareui, Sienew
EeurE st HAGLME @ Carsdsd FLiseug.

(11) Epdlwneiler (pmd Huds sensuenn GEisd penemut okl ol eman.
monGsel et

(1i1) @pdurden apsd g Caigd yenamui #m. eravad, Qadr aufon
ayeunt, |

(A) (1) g

(B) () whpd (i) w Hib

(C) () epgud (i) w P

(D) (i1) whgd (ii1) w G

(E) oflen Qaflwelicens
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38. Match :
(a) Article 257(A)
(b) Article 131
(¢) Article 245(1)
(d) Article 275

@ ® © (@

3

(B) 2 1 5
2
B

Lo = W -

D) 2
(E) Answer not known

QAummdgs.

() supm 26T(A)
(b) spgg 131
(c) sngs 245(1)
(d) syag 275

@ ® @©

A 5 3 4 1
B) 2 1 5 3
@1 2 3 4
2 5 1 3

(E) eflen Qaflwelldens

CCSEIL-IAP25 28
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or B BN

Grants-in-aid
Judicial proceedings
Supreme Court
State Jurisdiction
4274 Amendment Act

inmafi = el

ElsgienD pL oy Saasar
o #& Bflwanmib

wmBlen lsmr ey

42°% Amast sLib
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37. Choose the correct matches from the following,

(i} Fourth Finance Commission - A K, Chanda

(i) Tenth Finance Commission — Shri K.C. Pant

(i) Sixth Finance Commission  — Dr. Rajamannar

(iv) Ninth Finance Commission — Shri N.K.P. Salve

(A) (i) and (iii) are correct W (i) and (iv) are correct
(C) (ii) and (i) are correct (1)) (i), (1) and (iv) are correct

(E) Answer not known

sfwrer Geoaraw Csia) Clas,

(1) mrersmbh B8 @ - or.GE. Fhan

(1) ugsmb B8 s = s Gsf ups

(111) mmmd G4 @op = L. T&L_T. [y (oesTeaTT
(iv) gerugmd #ld @op - g, erelr.Ca. 9. srdGe
(&) (1) whppd (iii) & (B) (i) wpmid (iv) =

© (1) wogibd (i) s (D) @), (1), (iv) &f

(E) eflen Ggfweiidane

38. The Finaneial Position of the Panchayat is reveiwed under

AT Article 2431 (B) Article 243-E
(C) Article 243-B (D) Article 243-C
(E) Answer not known
ey _faeflen ff Feemosomear Frmia Gewwb SEETTD Fihs S7éwud
sngen eblfuden £ GriwciBdmng,
(A)  srflud srear afld 243.1 (B) sirflwé srsen cfifl 243.E
(C)  @rfud srsen ol 243-B (D) wipflww sreen flf 243-C
(E} sflen dafluafdeane
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39,

40,

Which of the following statements are true about the qualifications
for membership of the state le_gialature?

(i) 25 years of age in the case of Legislative Assembly

(ii) 30 years of age in the case of Legislative Council

(iii) Possesses such other qualifications as may not be prescribed by
law passed by parliament

(A) (i) only \@f‘ (i} and (i) only
(C) (i) and (iii) only (D) (ii) and (iii) only
(E) Answer not known ¢

wrfle s weam  ognfant gEfsdr Ghga Ganaish spmEaia g
£_aRrenio 7

i) 25 awg FroGuarsd s L Guraabs FesSnaneusdr

(11) 30 auwg HroEuereer s Guneaenaudi@ HHEwmaral &

(ii1) urgmemuwenmh FeapGauybfiu FLLSsmeD @GR OuLrs Gp sEfsmea
Qupdlinés CeusdrEnb

(A) (1) wifib (B) () wppub (i1) w G

(C) (i) wpmp (iil) we o (D) (i) ohpid (111) 0L Gab

(E) eflen Glpfwalidana

The Madras Legislative Couneil was formed by the
(A) Government of India Act of 1919
(B) Government of India Act of 1935
Indian Councils Act of 1861
(D) Government of India Act of 1858
(E) Answer not known

Glednenes wramer 5L 10 Gurane FUL LG 2 heunssLLIL g

(A) Epfw sirs slob 1918
(B) @idu ows s 1935

(C) @Epdu sayendld siobd 1861
(D) EEfw == siib 1858
(E) eflen Gasfiwelldena
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41.

43,

Arrange the following stages in the enactment of Budget in
Ascending order
1. Voting on Demand for grants
2. Passing of Finance hill
3. Passing of Appropriation bill
4. Serutiny by departmental committees
(A) 2,3,1,4 (B) 1,2, 4,3
Vel 4,1,3,2 (D) 3,1, 4,2
(E) Answer not known
Epsergmid  ara-Qsawa £ gSae W Gudmdlar  Faasaa qp
auflensiug. @upiigLRsss.
1. wraflué Ganflsams Bgmear eundG@s@iy
2. A4 wGsrgr fleopCanbmib
3. P gmsd @ wGeizn BapGappn
4. gepsd Gupssaien iy
Ay 2,8 1,4 (B) 1,2,4,3
(C) 4,1,38,2 {D) 3,1,4, 2
(B)  eflen Qafluclidemea
Consider the following statements about the Electoral College of

Presidential Election, which ameng the following statements is
correct?
(#4) The nominated member of Lok Sabha
(B) , The nominated member of Legislative Councils of States
The Elected members of both Houses of Parliament and
elected members the State Legislature and Union Territories
(D) The nominated member of House of states
(E)  Answer not known
Gerespeuemaubpel  GuUIsE  sSooaGEETEr  “aurssreart (LMD"
EOssuppe shiuneang eg)
(A)  wssmeasE BuslEsiuGo fue = g
(B) s Guameadss fludssiufn Huner e
(C) wiseree Lo Lb mn]f.]mrtmmmw&@ Cairgas ppaub CaibEsEdbstn L

emidlantsdr  whmh  wofles  oppb  weSwer (Sl (B 16 o G 6 5 s
CarpQsBssiu’ L s L_osp e moiensd

M) orfloksamade Hulss udn fluna & Semi
(E)  eflen CpMisehldmen
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43,  Assertion [A]: Article B51-A does mnot expressly cast any

fundamental duty on the state.

Reason [R] : The duty of every citizen of India is the collective

(44)

af

(©)
(D)

e M

duty of the state.

[A] is true but [R] is false

Both [A] and [R] are true; and [R] is the correct explanation
of [A]

[A] is false, [R] 18 true

Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

Answer not known

[A]  : epuoy 51-A geg Geealuusewns gl U@L
sLenwnsaa ailflssaiidan.

smewd [R] @ @Guodsdr galbam@amsspare sLennsaflar GemEiGU

(&)
(B)

©)
(D)

(E)

2rflen SLaDSETIHID.

[A] sy &l gewmar [R] smyembd seip

[A] spy wppn [R] swemd Gran@o sf; wpme [A] sppbser
[R] smyesmb &

[A]l b peup. [R] smyend &h

[A] mpp wom [R] smend Greas@o of, seme [A] sppssren
[R] amrearid seum

efflen_ Qpﬁlu&ﬂdmm
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44.  Which of the following articles on Fundamental Rights is incorreetly

paired?
1.  Article12 ~ Definition of State
2. Article2]1 - Right to Education
3. Article34 - Power of the Parliament to modify the rights
4.  Article35 — Legislation to give effect to the provisions of
the fundamental rights
(A) 1and 4 only
(B) 1and2only
"(,Gf 2 and 3 only
(D) 3 and 4 only
(E) Answer not known
Epksetm_ g tinen e fenwsdr Qariurer esipeennly el Ss@ner sMwrs
BunmssiiuLns Genew ez 7
L srsaouy eid 12 - sipflar aimnuap
2.  owsmoliy i 21 — sded o flans
3 sysevoy df 84 — syiueL e Amwsald prdpd Qs
EMLmgpwennsdar o fain
4.  spsewvoy &H 35 — =g Luent 2 flenosedr edrar Simakisemen
bruaufpis s fluhod
(A) 1 wpmbd 4w G
(B) 1 whons 2w Gub
(C) 2 ehmibd 3w Gib
(D) 3 whmb 4 o G
() dlar Qsfuafdaea
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45. The word “union” is the “[Inion of States” 1in our Constitution was

inspired by the
& Canadian Constitution (B) England Constitution
(C) Irish Constitution (D} U.8. Constitution

(B} Answer not known
‘e st e ganflul’ srelD Qenh@omfe G b&udgerer ‘gpemblih’ ererT

Qameéd B SjrfuaaoCiBdmbs aripgpners ubmeemang).
(A)  semm syrdlwesnioli (B) @mdleonhg pdwesanioli
(C)  aywiembg ipflusenoiiy (D) =Quoflss Simdlueenniiy

(B) dflan Bafuciaame

46. Choose the right matches :

1. Power of High Courts to issue certain writs — Article 226
9 Transfer of certain cases to High Court — Article 178
E= 3. Establishment of a common High Court — Article 231

for two (or) more states

4. Extension of jurisdiction of High Courts to — Article 320
Union Territories

(A} 1and 2 only (B) 2 and 4 only
1 and 3 only (D) 4 only

(E) Answer not known

Qurmssworar Bgmyamer Gatey Hals |

1. swk fdweaphsaie GGt 55 Curensmsenart — ofifl 226
Bmi s SEsmLh

2. edodi apsgsae ewifindmsdhe orbnss — eifl 178

3. meior (B DiEbEUE & LOTHEAISEREE - ofif 231
urgieuren o wifglodimb Hannggd
4, ewrfBoaphsaidn sfanri ugumu Genbluc - &hg 320
LESsignsE cflanss daigs
(A) 1 wppn 2 wlFb (B) 2 whpb 4 wi Hib
() 1 woomd 3 wifEib (D) 4 woC b

(E) eflen Gzflwehidame
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47. Consider the following statements, and choose the correct answer :

@
()
i
(i)
4

S

(©)
(o
(E)

The American Constitution was the first to begin with a
preamble.

“Preamble” to the Indian Constitution, resembles
“Independence of the United States” observes N.A. Palkhivala.

Justice M. Hidayatullah, called the preamble, as the Tdentity
Card of the Constitution.

A Republic Includes all public offices being opened to EVETY
citizen without any discrimination.

(i) only correct

(i) and (iv) only correct

(ii) and (iii) only correct

(i1) and (iv) only correct

Answer not known

Spsan. smppésmer smgs, sflurer bl aniy Camihlsfbs :

(1)

(i1)

(ii1)

(iv)

(A)
(B)
©
(D)
(E)

‘wpEUyemYLe” gleuridly (psd arflumecrigs &b sQofs
SArFla gD,

‘BEd srflueienwncnSear apsajaruneng Sibofss gedu nrfsaie
sgpdfivgengls  Curale  Emédos’ eear eim  Crridwieui
N.A, uédlaimen wgpeun,

fhugl M. @suggacr ysawornuregs EEfu  sigsenoliGer
B ERLLITET B afl. aTer B DESE T TEITT.

Gl e aeugar Dummen, sieass Cung sigastisgsn DTS S
GgoEsERsEn  erduelly  Ln@UTEHUE SenerannESHDL o Mg
SFUMSLD 2 e sdlumnLh,

(i) L@ o

(1) whmib (iv) w' Gib =
(ii) ppbd (iii) weGn «f
(it) wpgd (iv) o Gid A
aflen Qsflweldena
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48. State Industries Promation Corporation of Tamil Nadu [SIPCDT}
was established by Tamil Nadu Government for the development of ~

l"

(i) Large Scale Industries
(i} Medium Scale Industries
(iii) Small Scale Industries

vﬁ( (i) and (ii) only

(11) only
(C) (i) and (iil) only
(D) (i) and (iii) only
(E) Answer not known

slhprE AT QGpmfler paCaips spst (STPCOT) estip  SiémioLiy
spEr@  snerd  Aphsan Qarfe semolders  auaTTLLIFHATS
= £ gheun&sLILLL &l

(i) senyap Gzmipenena

(i) pEssts Gemfbsrea
(i) fp @smpe Gsmfpemme
(4) () wppb (12) we G

(B) (11) wi (b

(C)  (i1) whpud (i) o G
(D) (i) wpmbd (iii) wi G

(E)  aflen Gafiweldene
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49. The Scheme “Pradhan Mantri Janjativa Unnat Gram Abhiyan”

focuses on

(1)  Toimprove the socio-economic condition of tribal communities
(i) Toempower tribal women and promote gender equality

(i) To provide high quality education for the tribal children

(A) () only

(B)  (i1) only

(C) (iii) only

(D) (1) and (ii) only
(E) Answer not known

THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE
THE EXPERT COMMITTEE FOR FIMAL DECISION

g&Gameall HmIL aflsoL @miS (P aillh&sns
SUGLEYI B (HPETIET (106l sMmeUSHLILL 2 6TaNS|.

Grsrer  wpHll magnd gbard  Bumu  ver  syGQurer Sl g Hleir

CrrEsinmang
(1) Liprusy sapaiseatiar sfpa-Curmermsn Hlaaa GubuGsgsd

(i) Lpligs -Quﬂirslgr]&@ sfame sefigsa whpn Lmadlar FUSEI RIS S
easGehlEED |

i) upkGy EepossEnss o wisy sodou apbsss

(&) () wipne

(B) (i) w b

(C) (iii) wr Gub

(D) (1) whpe (i) we GHb

(E) eflen. Gsfusidaeme
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bl.

21.

From the following in the year 1962 in the wake of Chinese invasion
which Act was passed?
(i)  Anti-Secession Act
(ii) Anti-Immigration Act
(iii) Anti-Trafficking Act
(i) only (B) (i) and (ii) only
(C) (ii) and (iii) only (D) (i) and (iii} only
(E) Answer not known
Geremaenaupmer 1962 ayb e fem) e GuBieu NG5S
HeapGappuurL. #oL b e5?
(i) Gfdmerangs sHOLE sCLD
(i)  EaCLHDE SHUILS SLD
(ill) s_gsd sHUILE sLLD
A) () v B) () wpg @) LD
(C) (i) wpger (i) i Gid (D) (i) whpe (111) weFo
(E) eflen Glgflwsichens

Asgertion [A] : Social Justice basically does not deal with equal
social opportunities.

Reason [R] . Social Justice is non-proportional to either social
equality or social rights.

{A) [A] is true but [R] is false

(B) Both [A] and [R] are true; and [R] is the correct explanation of [A]
(C). [A] is false, [E] is true

Both [A] and [R] are false
(E) Answer not known

spm [A] sps B  @drug  Sgluenld  swover  S0pS
ML | Saers ensLrarausleens.

smrenrid [R] : Eﬂrﬁﬁ it ﬂﬁhlfj spips  sDggiauld  SdaF  FpS
e Meminsghde didgreryopmg.

(A)  [A] sflwneng, speme [R] saupreng

(B) [A] upme [B] @remGun sfumarsse ; [R] =erm (Al Spsrar sflurar

ghlenésn

(C) [A] paupreng. [R] sflwreng

(D) [A] wppbd [R] @ren@ib seuprarane.

(E) eflen Gsfluablcbens
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52. Assertion [A] : The overall policy framework for the sovial sectors

in India is laid out by the Central Government.

Reason [R] : The State governments  have considerable

(4)

v

(©)
(D)
(E)

flexibility in designing policies.
Both [A] and [R] are true; and [R] is the correct explanation
of [A]

Both [A] and [R] are true; and [R] is not the correct
explanation of [A]

Both [A] and [R] are not true
[A] is true and [R] is false

Answer not known

apm [A] - Bpfwureild  sapsp  mepsEsssren GLEEnEs

Gandrens st mnlen nsHu s aEsdns.

smyenb [R] : Qsrdrenssmer aqemoiufld wrflo srs safsora

(A)

(B)

(©
(D)

Gpspeys searewenus Qanandraran.

sapm [A]l srpemb [R] @yanfid sf; wipe smperd [R] & iy

[A] ssnen #fiwmar aflenssnngd

by [A]l smpens [R] @ren@e s whps srgemb  [R]  sabp
[A] &sren sfwrar fleréswda

som [A] sryenrd [R] Gperfe sflwrargda

spp [A]l #8, sryewd [R] geumy

afanL_ Qg fiafdena
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53. Choose the right matches

(1)

(i1)
(iii)

(iv)

(A)
(B)
(©)

)

(E)

The first communal order for
distribution of appointments
among various castes

First Backward class commission
of Tamilnadu was appointed

Ambasankar Commission

Report on Tamilnadu Backward
classes Commission justifying
the existing reservation

(i) and (iv) only

(ii) and (iii) only

(1) and (11) only |

(iii) and (iv) only

Answer not known

sfuren Qumpssasaer Gpieay baluen

i)  ueCamp sndulenfen (Gu Hluiber
udlfraySarer apEe auEHULSUTS SLanar

(ii) sAgETIge s S Hssous Gt
eIl Spenamriih HluflEsouc g

(i) esiburFbsT Syenamiib

(iv) shCurgeer G amasiea
iﬂu.mu_lgju{ﬁlbgu ﬁw_mﬂ{ﬁ
GpUESEsHULGLTT ey ifléms

(A) () whpd (V) wiEd

(B) (i) whmpud (i) w G

(Cy (1) wpgid (1) wiGibd

(D) (i) whged (iv) b

(E) dflen. Gsfiwslldena
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o4.  Match the following schemes with their respective beneficiaries

(a)

(b)
(c)

(d)

(A)

Babu Jagjivan Ram
Chhatravas Yojana

Atal Vayo Abhyuday Yojana 2.
8.

Pradhan Mantri Jan
Vikas Karyakram Yojana

Pradhan Mantri Janjantiya
Vikas Mission

(@ b (@ @
3 1 4

(B) 2 3 4

2
1
© 4 1 2 3
1

B3 4 2

(E)

Answer not known

ik

4,

Scheduled tribes

Minorities
Scheduled castes

Senior citizens

Wemaugmih &L fisenan Sibghss S msalld Luarmals@s e AuTmEgs

(a)

(b)
(e)

(d)

UMy gadgheusn Tmb S&gireu ey
S b

=L@ aulBun iuEGs S b

g wiAf g ellamsy
sy S b

Slrsio wiHf e reimg
afl@nei &) widish

(@ &) @© (@

(A) 3 1 4 2
(B) 2 3 4 1
(C) 4 1 2 3
(D) 3 4 2 1
(E) eflen Aaflusaiiaena

41

i

LI g i Slemmys Lgpitssiq ulenmir

Sl ureTenLei e
L weblens #mdlsel

S G 0bsdT
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55 The Justice Party was established in the year 1916 by whom?

\,(Jﬂ. T M. Nair and Thivagaraya Chetty
(B) P.Rangaiah Naidu and P. Ananda Charlu

(C)
()

(E)

Chidamparam Pillai and Subramania Siva
Jotirao Phule and Ram Mohan Roy
Answer not known

EHes A wigrer 1916 b syar( st g 7

(A)
(B)
(C)
(D)
(E)

T.M. pmuf wpgd Swursgmu e,

P. psiwr pryl opmpn P. syerhs srig
Agbmb (Sdrenar inhHiLD sl noenfiu Aeum
CGmrdmmes wha whpb grbGworses Qo
chlenL Glgflwehlidena

56. Arrange the event in Chronological order

(1)
(2)

(3)
(4)

(&)
(C)
(E)

South Indian liberal Federation was formed

Madras United League was renamed as Madras Dravidian
Aggociation

Periyar E.V.R. transformed the Justice Party into Dravidar
Kazhagam

The Ministry of A. Subbarayalu Reddiar fought against the
Swarajva Party

@), (@, (1), (3 @ @), (1), (4), (3)
). (2. (4). @ D) (1), (2), (), ()
Answer not known

faspasmars sme aflemsiiug Gulisn&Ha b

(1)
(2)

(d)
(4)

(A)
(C)
(E)

QperaffSiu sroreraungd sl Lani e RanssiUlLE

Guocgrey  weer@ul s Bulprs Horefl smmb e
el LMo L g

Quftwrt m.Qangr. fhss’ Aowg HrnelL i syswrs wirhdlarmf

& sOLgmUgl Qg urT SEnosFTaa SIS s fég edymal
Gumyme g

(2), (4}, (1), (3) (B) (2), (1), (4), (3)
(1), (2), (4), (3) D) (1), (2), (3), (4)
cHenL Gailwuehldens

CCSEI-IAP25 42 f_'.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

67. The following statements are about the Tamil Nadu Government's
mnitiatives : Find the correct statements.

(a)

(b)
(c)

(d)

(£4)

By

(C)
()
(E)

Allocation of 5 erores to translate all the works of Annal
Ambedkar into Tamil through Tamil Development
Department

10 erores for establishment of Tamil Parapurai Kazhagam

Allocation of 5 crore for creation of separate department of
Tamil Literature in JNU, Delhi

30 lakhe financial support for Theera Kaadhal Thirukural
Project

(a) and (h) only

(a) and (c) only

(a) and (d) only

(c} and (d) only

Answer not known

sURETE  eigflar apegpubflsdr  ubbl enmaumb sflsmssafid eranau
S LImaTensy 7

(a)

(b)
(e)

(d)
(A)
(B)
(C)
(D)
(E)

ananre) SbhGussfien menerdgll UL Uiyasmanyh sllp auariédls
gleon goan gllfld QurnfdQuuiss 5 Gerg Goidlp

AUp uptiLers spab siwoss 10 Bang pgsdE

Qchell geanremd Cpom udsawsspssdo sl Gosdus safls
glenpeny e reunds b Camy gssdn

S srge Amsmpar S shbe 30 s Bhysd

() wihpib (b) wi G

(a) whmpd () wifub

(a) whgd (d) weGon

(c) wpgin (d) we G

el Gsflusidama

13 CCSEI-TAP25
[Turn over


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

58,

“Opyer half of India’s GDP comes from rural India and almost two
thirds of rural GDP comes from non-farm activities. Despite this,
there are too many people engaged in low productivity occupations,
and a lot more work of better, predictable nature is needed to enable
a better life for rural India’s inhabitants, especially the young™,

What can be inferred from the above atatement about the economic
contribution of rural India to the overall GDP?
(A) Rural India contributes less than half of India’s GDF

(B) Rural India contributes more than half of India’s GDP, but its
economy heavily depends on farm activities

(C) The GDP of rural India is solely driven by agricultural
activities

@ Rural India contributes more than half of India’s GDP, and a

significant portion comes from non-farm activities
(E) Answer not known

Gfuredar Qurgs eapr @ o puss (GDP)-@a urfé@mn sfsnme
urg, Agmovyp Gifureie Bops amdng LHHID fymoviyp GDP @,
Smé@jmmu.l ppeblcy @il Lk dhleusmult dars Gemidaafldim
AuptiuBdpg. Seeunn Emsasnld, mfls mara| nESET HEDES LHUS
Spguew  egnfasdo  wFRUCBHarae. Sprotiyn  wEsdT, CILImE
Eenemi senanpeDulan(hES ﬁﬂa&; aumpdensenw, Gobull Gsmpldsmen
mElssada aniliusser ppab HerHes Fugib.

Cuod @smHestiul L smpiefmbs, Conss edrpn ehugdluda SAymolym
@nSlunelleln GuTmeTTSIT Lk @ﬁﬁg ereimen eadlés (P b7

(A) @pdureien Qungs edprp L;hﬁs;ﬁﬂd} unflé@mid  @anDa e
Liseftieny Sgrolym @hsun siphiEs D

(B) @pfunciler Guongs easri{ e pussude urféEn  Goomar
UnEsflieny  SAgrotigm @bdur wgm Spg  SETd,  SEEN
Quirgyarmsnil sileusmy bLcg San et il gulh EnihsETaTS

(@ Sgmooyp  @pdurellen  Gomps e dprf e hugdl efleusmu
BLcui senssarna D HGD FussiuGEng

(D) @Epfundiler Qurds odpri@ = pusuie Aprotigp Wi
um ésg;b Copurs udseliley  supkiSSng, Gm@m@mﬁ
DAL dgss ud Lsenam S dwng L6l den sl abl(Bibg aiihdE D

(E) sflen Qsfluclidene
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59. Which of the following statements are true about “The Chief
Minister's Breakfast Scheme™? s

(i) It has increased student attendance to high schools
(i) Primary school children benefit from the scheme

(i) The scheme has led to improvement in learning skills among
children

(iv) The scheme is limited to government schools only

(1) and (11) only

‘,aa( (i) and (i) only

(C) (i) and (v) only
(D) (i) and (iv) only
(E) Answer not known

pEwemnFsiar srena o srays .éh_u._u: uflu  Aereumb spmpseatls o
LEHT!EH}I.I'.'I?

() ewifleran udraflsefe wreamweat QUGS B flaflgs g

(1) Qsrisstidrefl wohensser Bad | sHd LwarenL Amprimer

(i) Bpss HiLb Gppapsefia.Gu spped Spdsaer GRS dens
(iv) @b sirs Ldelselld wi {Gib GlevshufisscuRdns

(&) (1) whpbd () i@

(B) (i) womo (iii) we@o

(©) (1) opmd (i) w0 i

(D) (i1) o (iv) wi Gib
(E) eflen Qaflweldena
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80. Match the four engines of development in the Budget 2025-2026 :

(a) 1% Engine 1. MSMEs

(b) 2 Engine 2., Export

{c) 3= Engine 3. Agriculture

(d) 4*» Engine 4. Investment in people

@ ® © @

@ s 1 2 4
w3 1 4 2
© 4 ‘2 3/
™3 2 4 1

(E) Answer not known

2025-2026 Fhufsesta @GHOAl Gder  Erands Eugfly  auaEsaner

Quimmdzis.

(a) 1% @updmd 1. MSMEs

(b) 2°* Gupsmb 2. appod

(e) 3*¥ @wikdmb 3. efleuamilib

(d) 4™ Guisnd 4, wasdfie wadld

(@ M © (@

(A) 3 1 2 4
(B) 3 1 4 2
(C) 4 2 3 1
(D) 3 2 4 1

(E) eflen Qgfweiidena
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61. Which of the following statement(s) are correct about ‘Tanul
Pudalvan” Scheme? v d

(i)  Launched on October 2024,

(1)) Improve the financial status of all male students studying in
government school after school education.

(i} Monthly financial assistance of Rs. 1,000,
(A) (1) only
(B) (i) and (ii) only
€T (i) and (iii) only
(D) () and (iii) only

(E) Answer not known

(pgmnisfilar “slbo Usdas” fib Eigms sflwurer Qenbh@om_ag
Gsfley Gaiis,

(1) msGumir 2024-Go GsndstiuiLg.

() werefliiug rigses G st ueell e safler Copug liyEss
Caenaiwman G4 Benwenmenu Cobud s dpg.

(1) g Auygeiuins mumis 1,000 eypmsiL@EEDs).
(A) (1) G

(B) (@) wpmb (i) we @

(C) (i) whgub (iil) weGo

(D) (1) wpms (iii) we FGo

(B) eflen Qaflweflchana
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62, Why Business Firms choose Tamil Nadu as their preferred
destination for investment?

V‘d The State of the Art Infrastructure
(B) Tax Concessions
(C) More number of unemployed
(D) More number of graduates
(E) Answer not known

auafls Bpeerisst oo FllpETL e apseiiighe efl@liLwomen @ ons
Gsia| Geldldmmern?

(A) pefer o dral el

(B) suflésguensss

(C) =fs sanafsmsulans Gaamauuilaans @gmyfleomariae

(D) wydls eremenflEenmulleomean UL S mer

(E) efen Qsiflweclcens

3. Name the scheme, a Tri-ministerial effort which includes Women
and Child Development, Health and Family Welfare and Human
Resource Development.

(A) Integrated Child Development Scheme
(B) Child Development Scheme
4@ Beti Bachao Beti Padhao Scheme
(D) Smart City Mission
(E) Answer not known

Quersdr wpmb Gphapsais WarGaHDD; SEMETTLD WhEpD @@L B
waflgeuar Gubunfp g flueraibenn o grem_&dlL ppem <SiEHLDEFTENGSETE

pwhdlg S b erg?

(A) gordoonhs Gppos aetdfls Hob
(B)  @ybens aerniddls Foiib

(C)  Guiy userBar Culy ugnGean S
(D)  aowmm Hig Siih

(E) aflen Qaflushldene
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64. Assertion [A]

Reason [R]

During 2001 to 2026, for the states Bihar,
Madhya Pradesh, Rajasthan and Uttar Pradesh,
the population is expected to increase by 45-55%.

More than half of demographic transition is
expected during that period.

(A) |A] is true, [R] is false
(B) [R] is true, [A] is false
(C} Both [A] and [R] are true; but [R] is not correct explanation

of [A]

\,IB{ Both [A] and [R] are true and [R] is the correct explanation

of [A]

(E)  Answer not known

anmp [A

smenh [R]

S, wiE L ArCssb, Elgrgegnen Wb
e sEmiArGeat audu wnglamsafs 2001-2026, st
SULASD, whsaGgneas 45-55 spalsin smflsfigd car
wHS O Fearg.

Humilh ugSuner ndsarblsras eantdf S wrhplisd

Eig wrileonssfd  G@)Hs srwgfles  flasyd aen
EanflEs 100 (Rerarer,

(&) [A] & [R] geum
® [B] 5A.[A] pag
(C)  [Aln #f [R]ib of; capennis [R] sramugy [Alae shiwimen eEleTESLTE )

(D) [A] eppue [R] @ranEin of; [R] srarug [A) & sflwmen eflerdswmgih

(E) eBan Gzflwicdeenes
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65. Assertion [A] : The demographic dividend is defined as a rise in

the rate of Economic growth due to a rising share
of working age people in & population, f,*’

Reason [R] . TIndia is in the midst of process where it faces the

window of opportunity created by Demographic
Dividend.

(A) [A] is true but [R] i= false
(B) Both [A] and [R] are true and [R] is the correct explanation
of [A] '
(C) [A] is false, [R] is true
\,(,B‘r Both [A] and [R] are true but [R] is not the correct explanation
of [A] is correct
(E) Answer not known
gapm [Al s pésaGgresl e edug @0 EsaQgrensilild
panpEEd UG wasefler  Ukig  2fsfsg
eumelgTs  GhuGul  GlurdhaTTETT quartéfl  eldl gl
ghuph sfsfuurs cuan s L B E D,

] smyaris [R] D nEsETEHsTEEL Y aeysaTmed B (REUTESLLILL
aumiliysefen srabans s Artardrgnl Qewdapenpullen
plRedd EESUT o areng.

(A) [A] #ft erar [R] seug

(B) [A]l wpge [B] @reriGw sfl whgb [R] eeug |A] & sflwrer
sflen&sLh

(€ [A] seum, [R] &

(D) [A] wpmid [R] @renGiGo sf speme [R] adug [A] && sflwmen
efiendamih [Eeensy erebiig &

(E) ofan Gaflueidema

CCSEI-IAP25 50 B


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

66. Match with the schemes and its main focus: /[ :

fa} PMGSY

(b) DDUGKY
() NRLM
(d) MGNREGA

(@ ® (o
(A) 1 2 3

vaafa 1 2

(€) 4 3 2
(D) 1 2 4

1.

4,

(d)

i o

(E) Answer not known

Focus on rural youth between the age of
15 to 35 years from poor families

Sustainable livelihood opportunities
Rural connectivity

Livelihood security in rural areas

Sl isear sigen apsdlu) Crrasgg or QUnmssab ;

(a) PMGSY

(b) DDUGKY
(¢c) NRLM
(d) MGNREGA

@ Mm (o
(A 1 2 B
(B) 3 1 2
() 4 §: @
O 1 2 4

(E)  eflen Qaflusiiaana

" &

41

(d)

Lo T R R

geps GEbULsmas Gaibs 15 apga 35
SILZISE UL dgmocys Benamgstast B
seuemb Glog)dssd

Bleveowimen aurpeingry suminiyse

Symodiyp Beremiiy

dlyreciyphisefld ampansn urgsmiy

al . CCSEI-IAP25
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67.

Match the following : *
Water Conservation Programmes and States
States Programmes
(a) Andhra Pradesh 1. dJal Jeevan Hariyali
(h) Bihar 2. Neeru - Chettu
(¢) Gujarat 3. Jal Hi Jeevan Hai
{d) Haryana 4. Sujalam Sufalam Jal Sanchay
Abhiyan
@ @G @© (d
ygz 1 4 B
(B) 1 2 J 4
(Cy 2 4 1 3
D) 4 1 3
(E) Answer not known
lumms5E.
Bt ungismiiLg L gt wblakis@Enw
Lol g T i Sl msar
(a) pdry GrEssib 1. ge deuen gofluimed
(b) Sarit 2. fm-&0
(c) @gors 3. e apu gheusr @mm
(d) sfwmenn 4. sgamb suTb ga sgrsl Gl

@ @ @© @

(A) 2 1 4 3
® 1 2 3 4
©) 2 4 1 3
@) 4 1 2 3

(E) sfar Csfludidema
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68. Assertion [A] : There has been a significant rise in the

percentage of labour force engaged in Industrial
sector during 1990s and 2000s. -

Reason [R] : There has been a significant rise in employment

in the construction sector between 1991 and 2011,

(A) [A] is true, but [R] is false
V{B‘J‘ Both [A] and [R] are true: and [R] is the correct explanation
of [A]
(Cy [A] is false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation
-~ of [A]
(E) Answer not known
anpm [A] : 1990sar whps 2000seflc Qzmfogenpla o erar
Wgnflenrariaatler sgalsn wiflsfis dranm.
srpesmb [R] ¢ 1991 whpgd 2011 =i SpenhsErae e uld
sLBores  geopdd Gaumesamity Edudcisss
siarelleh oiflsfggdrang.
()  [A] sfl, sggeme [R] sauy
(B) [A] wppid [R] @rerpn &f, whpn [R] aamug [A] clfgs sflumen
el ads omsib
(C) [A] gaup), [R] &
D) [A]l wpgd [R] @rein@in of, syema [R] ererugm [A] dip@s sfumen

(E)

chleré&sinda
eflanl_ GClgMwcBdiane
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9. Which of the following is not the function of the Finance
Commission in India? J

(B)
(C)
(D)
(E)

Preparation of Union budget

The distribution of net proceeds of taxes between the union
and the states

Recommend the principles which should govern the
Grants-in-aid

Any other matter to be referred to the President to promote
sound finance

Answer not known

£Cyp Qar@ssou’ Gaememanda aewma Bhdw Bl @opeticn Lanfl Blevenea T

(A)
(B)

(C)
(D)

(E)

whHu spflar aure) Hsowad fULsos guimicig

wad whpd wrBobsEsdan Gu ST auffl eumeuniisaer GH&E0
Qg LEnhseilEse

rafue Qupaspera sEd @iisg Hardrassene e mdl Gedige
pee Hwren  Bflew Haapri @b eereTd ERELE Sl LTS
senaauflan LiTTaaldegs Gamnehr A Caemgug

cHlem Baflushldeama

70. Which of the following statement is true?  * |

(1)

(2)
(3)

(A
-
(D)

(E)

Increasing Bank rate policy reduces borrowing among
businessmen

To control inflation RBI increases bank rate policy

Bank rate policy helps to control increasing price of goods
Statement (2) and (3) are correct

Statement (1) and (2) are correct

Statement (1) and (3) are correct

Statement (1), (2) and (3) are correct

Answer not known

Epdsan spfle sfwrang eg?

(1)

(2)
(3}
(A)
(B)
(C)
(D)
(E)

et cuidl ety eiph asflatsefiean by s AT TR, -V
Eophs HEHEns

LemalEspass s GoubEs RBI el ey dphos e uigsslng
autidl sulig sigd Gumplsatlar eilenar 2 uiiamaus s UL HESE D
samm (2) whmnb (3) &

sapm (1) whmub (2) #f

sapg (1) wppud (3) &

anpm (1), (2) whmib (3) #H

eflenL @ iflwefdbanan
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71. Match the following :

(a) Jawaharlal Nehru 1 People’s plan

(b) S.N. Agarwal 2 Sarvodhaya plan

() oJ.P. Narayan 3. Gandhian plan

(d) M.N. Roy 4, National Planning

Commission
(@ (b @ (4
W 4 3 2 1

(B) 4 2 3 1

© 2 8 4 1

) 1 3 4 2

(E) Answer not known

QU :

(8) meuantamd Crm 1. wEsdT £ 1h

(b) B.N. msieaurd 2. siBaumgswg & 1 th

(c) J.P. pmymweir 3. sThSLE S ik

(d) M.N. rmi) 4. Geflug &c s @y
a) () ( (@

(A) 4 3 2 1

(B) 4 2 3 1

(C) 2 3 | 1

(D) 1 3 4 2

(E) eflen. Gshuaidesa:
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72. Achieved growth rate of Eleventh Five Year plan is

v 8.2%

(B} 9.0%

(Cy 10.0%

(D} 7.0%

(E) Answer not known

11-cum mbsranGs Sl gHo sen b euaniésl oflsin

(A) B8.2%
(B) 9.0%
(C) 10.0%
(D) 7.0%

(E) eflen Glsfuielldenas

7a3. Aceording to Ragner Nurkse the starting point and continuation for
development lies in : d

(A) Organised money market
V(«Bf Increasing the rate of eapital formation
(C) Technological growth
(D). Removal of dualistic economy
(E) Answer not known

et midEy seuiselon sEsSUUG, enGarhpsdhaTer bUD wibmith
seubanpi Der_meaghaner ayflopeD aemig LD,

(A) Foréstiull uewd sheng

(E) ANGUEGN Z b5 EanS Sl & L (B & F sug

(C) Gasmfe plu aweriss

(D) @rieni O GUNHETTSTY SeniDreL 005
(E) el Gsflwedema
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Cl-mlngle Play

4.

78,

When one sees the person who taught not forgetting what they

taught is dealt in the chapter

(A) Detectives (B) Hopefulness in Trouble
(C)  Tyranny of rule V# Benignity (perspective)
(E) Answer not known

‘SaEen(l LulemTenTs Saim_me et

Fajiliten wpés wm L renn’ - eremm GungpEsaw s@srb 6T 7
(A) ghoma (B) @Gssem fluimans
(C) QarprGarédr (D) samGarm b

(E) eflen Clsflwalichanss

“Ozhukkaaraak Kolka Oruvandhan Nenjaththu

Azhukkaaru Iladha Iyalpu®. What is the meaning of the word
“Azhukkaaru”?

{A} Love
Submigsive

\&Ef Jealous

(D) Good Character
(E}) Answer not known

“gpssTnns Qardrs qemedngen Gl Brerashs)

SH(pdsry [Eers Gudy” - aayb  Gpaia QED “SipsEnm’ e gel
Cummer wimg) 7

(A) ey

(B) su s
(C) Qurprepws
(D) Ladw

(E) aflen_ Gsflusilaaa

57 CCSEI-IAP25
[Turn over



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

76. Pick out the incorrectly paired from the following :

(1)
(2)

(:3)
(4)

(A)
e
(D)
(E)

1962

1967

1968
1969

The Madras State (Alteration of Name) Act was
passed by the Parhament

Perarignar Anna Sworn in as the Chief Minister
of Tamil Nadu

Perarignar Anna was elected to the Rajya Sabha

The Madras State (Alteration of Name) Act came
into force

(1) only incorrect

(1) and (2) are incorrect

(1) and (3) are incorrect

(1) and (4) are incorrect

Answer not known

G eraumetana pfleflEEs gamns Eemanseliul Geraass GamGshssayb.

(ol ElTER G Lol (A TR LB ) FULLD
mrLnighoeanpadia fenpGeabpiic g

sfps apsaennssrmsl GUyblEsh smemmT Ligail Guihmm

- GuyBles e prgyusLreibe Ay AT AT SN

Qadranet wrfley (GLwT DIHDL) S SCgSE uB5S

(1} wi b seuprans)

(1) whgb (2) seauprearene

(1) pgis (3) pauprares

(1) whmn (4) geuprerena

ahlenL. GsMwislidama

(1) 1962
(2) 1967
(3] 1968
(4) 1969
el
{A)
(B)
(C)
()
(E)
CCSEL-IAP25
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77. Find out the rightly matched pair/s from the following and choose
the correct answer from the eode given.

(1) 1926 - Periyar EVR started the periodical ‘Kudi Arasy’

(2) 1928 — The English periodical ‘Revalt was started

(3) 1934 ~ Periyar published “Viduthalai’ as a Tamil Daily
Newspaper

(4) 1937 - Periyar brought out the Tamil Weekly
‘Pagutharivu’

Codes

V“{. Only (1) and (2) are correct
(B) Only (1) and (3) are correct

(C) Only (1) and (4) are correct
(D)  Omly (1), (2) and (4) are correct
(E) Answer not known

£Cy GarGissiiu r'_-[T;l‘J sheramaubblefimibg sflums’ Qunssdu  Goarsaas
samilsgs,  GanRésiiul @t wellimbs  sfuren uflenand

Qﬁﬁ;ﬁﬂg@-ﬁ&mm.

(1} 1925 — GQufwmrk AT, A T e kel ElSenypd
g m sl enrmir,

(2) 1928 - gl Ligme @)z h ‘MGeaymein’ GlamL msOuc] gy

(3) 1834 —  Quflur Gz’ il SD prafisprs Gesafufic s o

(4) 1837 - Quflumr ‘Ugssflay e siipeunT @een Geueflull s

&HEG

(A) (1) whmd (2) we HGn sfwuraree

{B) (1) whpt (3) v @Cn sfuraraa

(C) (1) wpmiod (4) e HEs sfurarae:
M) (1), (2) whmibd (4) LGS0 #Mureree
(E) e Qsfwchidena

B 59 CCSEI-IAP25

[Turn over


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

78, Assertion [A]

Reason [R]

Tamilnadu Women Conference held on
13.11.1938 at Chennai under the leadership of
T. Neelambikai Ammaiyar.

This conference passed a rezolution for
aholition of ecaste discrimination and the title
“Periyar” was conferred on E.V. Ramasamy by

this Tamil Nadu Women Conference.

(A) [A]1strue [R] is false
(B) [A]is false and [R] is false
(Cy [A] ie false [R] is true, but [R] is not the correct explanation

of [A]

A [Alis true and [R] is true

(E) Answer not known

anfim [Al

sy [R] :

sApEnR Gusmadr rprp 18.11.1938-0 4. pambilams
syiheniowimt geneoenoililds Gleemananild peoLEuimE.

wrpT e #ndu  Gahmemoenu G LIuEDEED

e, greemfsen “Guilunt” ulih  aphiGasdEo
Ernorent BenGappriici gl

(A) ey [A] efl cgpenmds smyenmd [R] zeim
(B) swpm [A] geaup wopd syt [R] peug

(C) apm [Al
el & SLnean

gag smewd [R] #f gpermd [R], [A]l &s sfwmen

D) spm [A] & wpgd sryambd [R]-i &
(E) eflen_ Qpfluehicdbame

CCSEI-IAP25
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78, Match correctly booksfjournals with authers *

(a)
(b)
(c)

(d)

{a)

The Mirror of the year
History of the Justice Party

From Sir Theagaravar to
Dr. Kalaignar

Justice Movement

(b) (@ (d

(A) 2 3 4 1

(B) 1

2 3

4
»{,ef' 4 3 9 1
(D) 4

1 3 2
(E) Answer not known

= A asan e

Dieu TEaTs

LTRSS, Lb,

(a)
(b}
(e}

(d)

(a)

(A) 2
(B) 1
(C) 4
) 1

Al iyt s £ G
ablevr A syt £ e dn Limtig
=it Awnsgmufldlmis

Dr. sanaxgyi QUG

fREg.e ppellnedm’

(b)  (e)
o 4

2 3
3 2

3 2

=

i

(E) el QsMucideanss

61

1
2,

LsssnsEar | Ld i san smenar

A.P. Patro
N.S. Elango

Muthusami Pillai

AR, Mudaliar

Fiwmrsts

AP Guc Gy
N.8. BeamCan
(psmsmdl Geraner

AR. apsd it

CCBEI-IAP25
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g0. The members of the Justice Party were sent to meet Joint selgct
committee in London for finalise Government India Act in 1919 7

(i)
(11)
(k1)
(iv)
(A4
(B)
(C)

Arcot Ramasamy Mudaliyar
Koka Apparao

T.A. Ramalingam

5.K. Thulasiram

(i) and (i1)
(ii) and (iii)
(i), (ii), (1v)

W @, 6, (v

()

Answer not known

1919 i apeinf Gpdu sps FlSnE Bod Qeicushers e ndelLCL
sl BE Gaias @opma warLallw splés e Bflas & ey enissr

(i)
(it)
(iit)
(iv)
(A)
(B)
(C)
(D]
(E)

apbar® @rmosmd gpsellwrt

GEMET SLTmel
g 67, TLoeh gL

erei. Ga. genflrmb

(1) wpgub (11)

(if) wog (i)

(ii1), (i}, (iv)

(1), (id), (iv)

ellanL (Glaflwiehidena
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81 Choose the right matches among type. /

(1)
(2)

(3)
(4)

vy

(B)
(C)
(D)
(E)

Krishnabaj Nimbkar
Rukmini Lakshmipathi

Antony Ammal

Manjubhashini

(1) and (3) are correct
(1) and (2) are correct
(2) and (3) are correct
(3) and (4) are correct
Answer not known

Madras Youth League

President of the Madras
Women's Students Organisation

Pankaja Textile Mill

Acting President of the Tamil
Nadu Congress Committee
during Quit India Movement

#ilwrar Qunnss camsaous CarbblsGissea b,

(1)
(2)

()
(4)

(44)
(B)
(C)
(D)
(E)

Emeipenrriml i

G L eV T

2k Ganafl sybinmer

IDEREEeLIme Gl

(1) wipb (3} sflwireranas
(1) wppid (2) efurearena
(2) whpib (3) sfunenena
(3) wibpib (4) sflurarene
ailenL Gsfwaildama

63

IEITEh @lenamgni ks

&G I0EETlT IOTeRraul Sianwniidlen
A EEU T -

LkiEgr spayall sy eney

S0\ pmm(R smisflyeh @(pafisn
Seneoaul (@UrmciL) QeudranamuGer
HeuallGumy Guissghan Gung

CCSEI-[AP25
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82. Assertion [A]

Reason [R]

The company asked the Collector of Ramnad to
Summon Kattabomman to his office at Ramnad. i

Kattahomman was asked to meet the Collector In
connection with the arrears of tribute that he

owed to the company.

(A) [A] is true [R] is true
(B) Both [A] and [R] is false

€5 Both [A] and [R] are true; and [R] is correct explanation of [A]
(D) Both [A] and [R] are true; and [R] is not correct explanation of [A]

(E} Answer not known

snfim [Al

S IT ST LD IR]

Sl e sbEuafiumeniraar efTLmeiorig L
s @Umbuaen ErroErs | rEs i S imar el
Sgaesssla gngory GslGsHsnarLrh.

aymdfoy  sbluslurnpss sie  Geauemgw  SUUE
Bggamante  Fmougrd s furaeny  ShEES0OTD

sC L Auribmer Gel REGsmararLIC LT,

(A) [A] #f. [R] =@

(B} [A] wppuo [R] sap
(C) [A] whge [R] &f; Guge [R] eerug [A] abe sflurer sbledsl

S0

(D) [A] opge [R] ef; Guguns [R] eaug [A] suse sfiwrer cfenssb

oo L

(E) eflen Gsfwsildas

CCSEI-IAP25
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83.  Arrange the following events in chronological order :

(1)
(2
(3)
(4)
(A)

(B)
(C)

N3

(E)

Salt Satyagraha

Swadeshi Movement

Quit India Movement

Non Co-operation Movement
(1), (2), (4), (3)

(4), (3), (2), (1)

(2), (3), (1), (4)

(2), (4}, (1), (3)
Answer not known

Blerau(mi HlEpaysenars sma cufilensiLi (s,

(1)
(2)
(3)
(4)
(A)
(B)
(C)
(D)
(E)

& Ui sgguindlrsih

=C58 fFussip

GeustanaruGear GaefiCGuip @ ubss
RESS QLT Blwiksd

(1), (2), (4), (3)
(4), (3), (2), (1)
(2), (3), (1), (4)
(2), (4), (1), (3)
sflen_ g flusldemn

65
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84. Identify the person who uttered that, “Nothing can be done without
shedding of blood. Japan was prepared to sacrifice 20,000 men and
gained a victory over Russia. If 15 crores of Indians do the same,

“Swaraj will be obtained”.

(A) V.0.Chidambaram Pillai

\}B{ Subramania Siva

(C) Subramania Bharathi

(D) Vanchi Aiyar

(E) Answer not Enown

“Qresd Hpgod agan Qeiw g, FGoLTes 20,000 &fiptsana
Aunmb Qi gunirs BmbSs- TeRLTME Qevarpg. 15 Camg EiHw e
@engé Gsugra, “swpmRud SalsGD e safin mueny <senLmeh
srerain.”

(A)  eu.z. Azbumd Slerener

(B) sumoentiu Seur

(C) sunoerflu umg

D) e pui

(E) eflen @sfudidena
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85. Choose the right matches among type:

1. Porpanaikottai - A sangam age fort

2,  TIron Knife - Pallavaram

3. Merchant Guild Inscription - Mayiladumparai
Sarcophagus ~  Marungur

b(&f 1 and 3 are correct

(B) 1 and 2 are correct
(C) 2and 3 are correct
(I 3 and 4 are correct

(E) Answer not known

Sebreumuepeusatias sflwmer Aunmdssms GETHESE s -

1. GumpumensGaman = gt shus e Cer e
2. Bmbus ssd —  Udemeufih

3. cuanfisds g sd@an 5 — wlerfiburens

4. speaEuly ~  ID(ERiSRT

(A) 1 wpmb 3 sAuraae
(B) 1 upmib 2 sflurenenay
(C) 2 wppb 3 efuramese
(D) 3 whmb 4 sMwurerene
(E)  dflen Gafuslaama

B 67 CCSEL-IAP25
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86. Arrange the following with reference to different stages of human

development :

I
2.
3.

4,

(A)

The Nomadic stage
The pastoral stage
The hunting stage

The agricultural stage

2381, 4

D) 4,123

(E)

welg eueniéddlulids Gehaimh AeucGap Haasama pUpRsmLSHaD |

1.
2.
3.
4.
(A)
(B)

(€)
(D)

(E)

Answer not known

BBy [Blana
i Henes
GouL s Blena
e eusmy EHena
2,3, 1,4
1,4,3 2
3,1,2 4
4.1, 2,3

ailen Cla wiehlghenen
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i

87. 'The Ocean of birth swims. swims and does not join th !
. : ; e Lord’ —
18 the philosophy of this Kural? ] e

(A} Siva Philosephy

(B) Vidhya Philosophy

‘J;E‘f Surrender Philozophy {D} Soul Philosophy

(E)  Answer not known

peil’ AumhisLd Bhgant Eisn

Blenmeuemy. G i’ — E&@ e o amisgib S&EIaD eremer

(A)  Sa Efgieuld
(©)  syamaf) spsa
(E) efea Gsfusidemea

(B) eflgwr sgsann
(D) gemo gggians

&88. Thirukkural Uraiasiriarkal -

(I} Pariperumal
(1) Dharumar
(1) KiVa.Ja

(iv) Dhandapani Thesigar

(A) (1) only
(C) (iii) and (iv) only
(E) Answer not known

£ma@neT e enruwndfurser
(1) ufo@ummwmer

(1) smwor

(i) £.eupmm,

(Av) sew_urenfl Cafan
(A) (i) i mib

(C)  (id1) whgd (iv) we Gub
(E)  edflen Qaflueidemea

(B) (i), (ii) only
(D) (iv) only

THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE
THE EXPERT COMMITTEE FOR FIMNAL DECISION

@& Casrall Hm ellsmL. @midl (W aillhsns
SUGDEVI B (HLOTIST (L0601 sMmeuSHSLILIL 2 6ITN&|.

(B) (1), (ii) i Gub
(D) (iv) wC @
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89. Assertion [A] : That is the land or country which forces free from

fierce famine, wasting plague and ravages of
enemies

Reason [R] . Poets consider it their primary duty to wish the

country and wish for the development of 1its
people. They want all countries to be special, not
just their own.

(A) [A] is true but [R] is false
(B) [A] is false but [R] is true
Vgef Both [A] and [R] are true, [R] is the correct explanation of [A]
(D) Both [A] and [B] are true, and [R] is not the correct
explanation of [A]
(E) Answer not known
Sy [A] : #EE]I.HEFIMIJJ gpeunll lamflub GQepuensyb
Goyr Swdaig HTH
seann [R] D prlem sumpdgleusngun, BrC b wEsallar Guoibum’ e
b jaiegid LS S@@UML  SLaLLLTES
smgfamentt,  gar  El wifuliard  erewanm{pD
Slprigbflinés sfmbydempent.
(A} [A] &, smerred [R] geum
(B) [A] saug, spemnéd [R] &
(C)  [A] wppe [R] @rer@o #f, wppd [R] aanug [A] el sflwimes
élarﬂ:‘-ﬁmrr@;,m
(D) [A] cppd [R] GranEue =8, nppib [R] ererug [Al b sfwren
gl amd S ehe
(E) dleor Glgfusehlane
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0. Which of the following statements are true? :
1. All the religions were accepted and a ppreciated in Thirukkural
2. Every religions ratified the views of Thiruvalluvas
3. He didn't believe morality
4. Valluvar said that men with high principles deserved to live ag,

(A) 1 and 2 only correct (B) 2 and 3 only correct
T~ 2and 4 only correct (D) 3 and 4 only correct

(E) Answer not known

silwren Clar_smrs samfls.

L. Geuabam sowusmgs #ipgeitsgmn Smsmneaar’ Gurbiarmlodeame.
2. Smedigiar ggsh  sougmss FrBEet ooy  swwksd  sndny
ST &,

3. =plndua sggssoren phdls@suhmeul.
4. ewips HRaCena Aenan() waflger aimpEaismEduweampms,
(A) 1 opmbd 2 wi G sf (B) 2 wppn 3 o Gab &A
(C) 2 wehmb 4 we Qe &R (D) 3 whpd 4 oc G &
(E)  dlen Gsfudidma

91.  Arrange the following in order - .

1. The goodness of the help to domestic life

4. The possession of love

4. Domestic life

4. The obtaining of sons

3, 1, 4, 2 (B) 2,8,1, 4
(C) 1,2,4,3 D) 3,1,2, 4
(E) Answer not known
auiflensl LIRS ;
L. ampseas gaenr pab
2. T L e
3. Beoanpsas
4. ysdeuany G
(A 3,1,4,2 (B) 2,31, 4
) 1,2, 4,3 (D) 3,1,2 4
(E) e Qefudlaamea
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92. Which book features the series “Pagaivar pull Aarga™

(A} Natrinai
(B) Kalitthogai

,JB{ Aingkurunuru

(DY  Purananuru
(E) Answer not known

‘Lenmeui Lid Syis erggih Damif @ bEHubperer mrel.
(A)  poblenam

(B) sdigCsmens

(©) mucnmD

(D) upmreTm
(E) dfilenL Gsfusiidana

03. Who gave special importance to Village Administration?

(C) Pandyas
(D) Pallavas

(E) Answer not known

Hymo Brauraigses Apldib Gen( Hgh
(A) Gegir

(B) Gampir

(C)  umetmgwif

(D) wdaeur

(E) eflen Ggflweaidena
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s

94.  Assertion [A] : Some peets live on their prize money. Most of the

poets have their own professions. They don't
depend on prizes.

Reason [R] :  When poets who make a living out of their prizes

)
.1

(©)

get prizes of low value / below their expectation;
they reject it.
[A] is true but [R] is false
Both [A] and [R] are true, but [R] is not the correct
explanation of [A] is correct
Both [A] and [R] are true: and [R] is the correct explanation
of [A]

(D) [A] is false, [R] is true
(E) Answer not known
wmibp [A] b qeautseafld LV Lol GUT|paEnseniL
(B0 o) & i .o gt L igmibLmGeamr SHEtodios
algplinnrer Qgmfldsamens Halg eumpey mgfant,
smrenrih [R] - Ll Sl ampsesany  GuhGsreanEomt Emdl&mE
e MEUTS LIl Il G b (p&Lh eyl
SeflEgCungs  soGurpmer o Ll
LD )| e e
A [A] #fl, sperre [R] gougy
B) Al whp [R] gl @rengn of, ageme [A] o LB
[R] sflwrer eflerdsindien
(€) (Al comw [R] gy Greann «; wpgid [R] meng [A] efipsrar
sfluinen eflerdsinmgb
(D) [Al seupreng. [R] sfiwimens
(E) &l Gefusioema
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95.

96,

f

One man, 3 women and 4 boys can do a piece of work in 96 hours,
2 men and 8 boys can do it in 80 hours, 2 men and 3 women can do 1t
in 120 hours then 5 men and 12 boys can do it in
1 7
39— h B) 42— hours
@) e 11 e ®) 11
\M 43% hours (D) 44 hours
(E) Answer not known |
g e, 3 Guarsd, 4 @uwemser Gafkad &b .g,,[ﬂiunﬁ'h'_l_ (Geuenaspi
96 wedl Copgde Cecddpert. oGs Coumae 2 spemsdt  Whmb
8 euwdsdr Gsipg 80 wafl Crrigle Gaisldpent, \fary 2 syeimsdr whmpbd
3 Quemser Genpgn =G Geusnaramul 120 wenfl Gpyb Hsd&larment, eTent el
5 ayemsar nppub 12 auudisd G5 Gamamu QFin eTREmE Herdnigyd
GJIHIFL'I"J L %m_
]
(A) 39% el Grmyib (B) fﬂﬁ weart GEMb
(©) 43% e Gopd (D) 44 ivedl Cprd
(B)  eflan Qpflustsoeme

The diagonal of a rectangle is thrice its smaller aide. The ratio of the
length to the breadth of the rectangle is

(A) 8:1 (B) +3:1

© +2:1 u2f 22

(E) Answer not known

s Qediaussdler gpaaeiliLionang Siger GmAw ubspfldr apenm WL RETE
o drengy erafle Gecieussdlsn Hord D sasSar sl Elgh erebien 7

(&) 3:1 (B) +3:1

(@ 21 (D) 2+2:1

(E) efler @sflwshsiens
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a7.

a8,

89.

Kx:T6=8:9=7:17.5 find x: y

(A) 3:22 (B 1:7
3:20 (D)y 3:23
(E) Answer not known

2:7.5=8:y=T:175 aafic X.Y g snews,
(A) 3:22 (BY 1:7

(C) 3:20 D) 3:23
(E) dler Gsfluddaman

If Rs. 1,600 is divided among P and @ in the ratio 5 : 3 then &’s share
ig

(A) 900 Wil 600
(C) 1000 (D) 1200

(E) Answer not known

m. 1600 @ P wogib @ edap @gen) BUfE@sE D : 3 erarp aifisidd
AR ggneh G el it

(A) 900 (B) 600
(C) 1000 (D} 1200
(E)  eflen Gaflwefichana ?

L.CM. of (22 - 8xyf, (4x= 6y} and (3x"— 27y°) is ?

(&) 2x(2x - 3y) (45* + 6xcy + 9°)
2°x%(2x — 3y (4:!:2 + Gacy + 5}”}
(C) 28x%(9x - 3}*}2{4.1'3 + Bxy + Qf}
@) 2%x"(2¢-3y) (4x + 6xy + 9y)
(E)  Answer not known
(22% — 3xyf, (4x - 6y)' wpgb (8" —275°) —ei . QLm0

(A)  2x(2x - 3y {42° + 6y +9y°)
(B)  2%x*(2x - 3y) [42° + 6y +95?)
(C) 2°x%(2x-3y)(ax® + Bxy + 9y*)
(D) 2°x*(2x - 3y)' {4x + 6xy +9y)
(E) eflen Gaflucidanc
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100. Poter got 30% of the maximum marks in an examination and failed
by 10 marks. However, Paul who took the same examination got
40% of the total marks and got 15 marks more than the passing
marks. What were the passing marks in the examination?

(A) 35 (B) 65
e 8 D) 70
(E) Answer not known

So it eeruet  en  Goielien sifs  ufuBuerseafle  30% Gluhm,
10 wduQuensdr sfgfunssBa Gandell sen_dpri. Gogid, LrD T ElTL LT
=05 Csreflman eppd. Grss pduQuansafio  40% Gupm. Gamiiésl

Qupeishsrar  WwHLHUETEmaTS ST D 15 wiuQuearsdr sifsb
Qupdipn. eraflé oybss Gataflen Gaiidd odiCledn earemen ?

(A) 385 (B) 65
(C) 856 (D) 70
(E) eflen Glafluishidoenes

101. Akila scored 80% of marks in an examination. If her score was
576 marks then find the maximum marks of the examination

g 720 (B) 620
(C) 820 ' (D) 710
(E) Answer not known

s@ar  Catelle 80% wAlludrseer GUODTET.  SEUET Quims
BT6 HuQuansdr aafld =ibhs Gaielldn Quorgg WHGLamensT STETS.

(A) 720 (B) 620

(Cy 820 (D) 710

(E) o @zflweldenm
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102. Find the next term,

103.

0.5,0.6,15, 4,89,
(A) 12.6 (B) 13.5

(C) 14.3 A 17.0

(E) Answer not known

HGIEE &ML Sme.
0.5,06,1.5,4,89,

(A) 1248 (B) 13.5
(C) 14.3 (D) 17.0
(E)  eflen dpfuaiiaas

A, B, C, D, E and F are cousins, No two cousing are of the same age
but all have birthdays on the same date. The youngest is 17 years
old and the oldest E is 22. F is somewhere between B and D in age.
A 18 older than B. C is older than D. Which of the following is not
possible?

(A)  Dis 20 vears old (B) Fis 18 years old

(C) Fis19 years old A Fis 20 years old

(E) Answer not known

A, B, C. T B whpis F ay8Gunt qeamelc L sCamsirsdr. seuisafla T
B sCangits@d gis wudat sde, AT, SRl EdEh dAnis
Hemb snib, mjaitsafld Wlss@ennis enwgl = eiwat 17 alugilh, 105 oEs
wg Gsmam B, 22 augh secwuar F e B wpgis D &
Ben 18 o sher glan g auwg Caran s, A eevLet B & efl Qufluieu,
C e D g efl Quflueurt erafld Epdsam_eybfla g sngdufdmen

(&) D ererucuflar aug 20 (B) Ferarueufler auwg 18
(C) F arewicufian allg 19 (D) F erarcufien aiug 20
(E) eflen. Gaflueficema
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104. In a dice, if 2 is adjacent to 3, 5 and 6, then which of the following 1s

105.

necessarily true?

(A) 3 is adjacent to 6 \.@’. 1 is adjacent to 4
(C) 2 is adjacent to 4 (D) 2 is adjacent to 1

(E) Answer not known

oo useLda 26 SiGde 3, b owppd 6 oereng sraflar EGyp
Qsr@EscuHerer spfic o pilurar e svenin g7

(A) 3 &g =inls 6 e diergl (B) 145 =imGs 4 e drang
(C) 2és =nts 4 edrag D) 2 e wmts 1 esrag
(E) eflen Qafwaldena

Five girls are sitting in a row. Rosy is not adjacent to Sivanandhini
and Abi. Anuradha is not adjacent to Sivanandhini. Rosy is adjacent
to Monika. Monika is at the middle in the row. Then, Anuradha is
adjacent to whom out of the following?

\,(ﬁ{ Rosy (B) Sivanandhini

(C) Monika (D) Cannot be determined
(E) Answer not known

mig Gudrsdr G auflas@d  suorhdmsEnnradr, Cpradl  ereruieut
Happdel whpd 2EE G0 Goma. HErTET Heupilaiiss =mdla
Edwene. Grmedl Cuoraflsrdpe mmde Saeadprdr. Guorailsn alflensuiid

woeile @@psdprean. Sewant, H@IITST G emaureuamsubifled LINmHAE mED
Elmafmmer?

(A) Crmedl (B) feuppilaf
(C) Cuoreaflsr (D) Enonaflés opgwng
(B) eflen_ Qpfuicldena
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106. One Rutherford is equal to

(A)
(B)

(D)
(E)

10% disintegrations per second
10% disintegrations per second
108 disintegrations per second
I disintegrations per second
Answer not known

@0 maiLBuntf serey eanug Ebbseir_aibmer aapEé SLOLOTENg) 7

(A)
(B)
(©)
(D)
()

g{_r-:. Grseim( Gorgdla 100 fwgasmars CerBésn  sfflubs
uwmﬁhhdmmﬂ4

o Grsard Cprafle 104 Aaosasoas CenBémn  aflfuss
QumEellar sera

G Grseml Grrgda 105 Aamgesamars Wsmpésy  sffussc
durmatiar myara

g Gessarl Cprsda 1 Hageysaas  HanseEn sElfwds)
Aunrmmafler aiaray

eflan Elasfueildeana

107. Kessler syndrome refers ta  #

()
(B)

(D)
(E)

Radio Frequeney Interference in space

Light Pollution in space

Accumulation satellite fragments, spent rocket stages and
other discarded materials in space

Formation of Cirrus, Cumulus, Cumulo Nimbus clouds that
distracts the light penetration

Answer not known

Caaair flar’ Crmb eream’ Li{fieu g

(A)
(B)

(©
(D)
(E)

ehlafrCleauafldia apuGib CruBur samaafas &R

la@nGaafiuila gbuBn gefl wrsumg

clsimieuafludar wellhgdrer Gaupms Camdsdr, rrEds whpih Bsrs
sifleysarmes ghuBn dilemars

Aieh, Gapaen, @wapGw Hbuss Gurdm Goarse @A geflufier
pen(Rlmeuedled erfaifih alleneray

aihan_ Qaflueildama
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108, Assertion [A] : University students think more critically about

the new subjects and situation they encounter. 4

Reason [R] - University professors encourage conceptual

learning and understanding of the new subject
concepts at the primary levels.

(A) [A] is true but [B] is falze
@ Both [A] and [R] are true; and [R] s correct explanation of [A]
(C) [A] is false but [R] is true
(D) [A] and [R] are true, but [R] 1z not the correct explanation
of [A]
(E) Answer not known
smpm [A] 2 qflwe  uridiser  wpgd  gfluE S ipflenarsena
cli@smemash Quiggs UOSMDESPS  nTETaEE
afiwigen Afwnes Aipflsdenment.
smpearid [R] : Udssakapst Gupnilflufsdr smigert shpa OOpID
Sy Peredid yBul un Rsmerd GGEEE STTBE
LifipEs Qaren( sis easgedsdenpent.
(A)  spm [A] ofl, e snperb [B] geig
(B) espm [A] app snyann (K] o of; oppd syemd [R] spm [A] 66
sflwmen eflaraswnen
(€) spp [A] saup, smyewd [R] &
D) spm [A] ey smend [R] b &, gemer smpemb [R] erérugm
sbm [Al &5 sfluren eflenés febone
(E) &flen Ggfluelidena
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109. Mateh the following and find out the correct sequence,
(a) Abiotic component 1. The crushed cane after extraction

of juice

(b) Bagasse 2.  Animals that feed on other animals

(¢) Carcinogen 3.  Non-living component in an eco
sysiem

(d) Carnivorous 4.  Toxic organic compound causing
cancer

@ @ (o ()
(A) 1 2 3
(B) 2 3 4

\,(-Cr 3 1 4
Dy 4 1 2 _
(E) Answer not known

B2 BD = s

& pmeim_autanm Cummsss whmbd Cogih sfurar cuflas (LPENDEDIL] ENaimE,

(a) = uflgdm Qumrgser Lo ey G85056085 Gpe Gprmpsscc,
S(fHLbL

(b) smibLs stens 2. opp dlonigsamar e angauh el Eae

(€) smiefGarmgen 3. @epdlud wen wmsdd o drer e ullphm
Sl

(d) esrgyewent 4. yppCrrenw o a@m_nésb Béed  EMn
Serened

@. M @ (@

(A) 1 2 3 4
@ 2 3 4 1
(C) 3 1 4 2
(Dy 4 1 2 3
(E)  dien Ggflusidaa
B a1 CCSEI-IAP25
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110, Assertion [A] : Overloading of Nitrogen in the environment can
cause an imbalance to the natural nitrogen cycle. ¥'i |
Reason [R] . Nitrogen becomes a pollutant when it escapes into

(A)

VGB)‘

the environment and reacts with other arganic

compounds,

[4] is true but [R] is false
Both [A] and [R] are true; and [R] is the correct explanation of
[A]

(C) [4] is false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
(E) Answer not known
=mpm [A] ) e, el G LT SR 8T flEwnns & fh e
EupesLrar e ELFEREN sphfluils  ebpgsripaeal
& am_réE S ngl.
sryeamb [R] s ShpsSpdd SQBE O0S S wrdl, whp sflod
CGerohisesLsr sllaaflEng.
(A) [A] &f, [R] seum
(B) [A] wpmb [R] Brarpin #M; womib [R], [A] dparar sfwmer
@hl 6T & E LoD
(@ Al paug. [R] &
(D) [A] wppis [R] @rer@n s, serma [R], [Aledpaner sflwmer eflargsin
(& daned
(E) clen Qsfluciidens
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111. Which of the following caused by earthquake? /

(1)
(i)
(1)

(iv)

Lightning
Landslide
Thundering
Tsunami
Floods

(i1), (iv) and (v)
(1), (ii) and (iii)
(ii) only

(1) and (v)

Answer not known

:ﬂﬁim!qyaumﬁuﬂ;ﬁm Lshugsrd gnufluael erene 7

(1)

(ii)
(i11)
(1v)
(v)

(A)
(B)
(©)
(D)
(E)

W i emen
Hle&efia

TS

Femmil
Glewdiramih

(1), (iv) wpgub (v)
(1), (11) whmdb (iii)
(ii) wi Hw

(1) ipgud (v)

efflem|_ Glg flweflebene
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112, Match the following :

Column I Column IT

(Waste Disposal Method) (Process)

{a) Sanitary landfills 1.  PBurning of waste

(b) Incineration 2. Deposit the refuse and
compest it with bulldozers

(¢) Pulverizing 3.  (Combustion in absence of
oxygen

(d) Pyrolysis 4.  Spreading the waste on fields.

(a) M (e (d THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE

(A) 2 1 g 4 THE EXPERT COMMITTEE FOR FINAL DECISION

(By 2 1 4 3 @eCssel whmu el @mS (wuealhens

(Cy 1 2 3 4 uOSIBI GpeNlsh (1ps MeEusBLILIL 2 eiens).

M 4 3 2N
(E) Answer not known

Fpasim_aupenpl HUnmheEIS |
QpGpeafias

(sfa) ssppd gpenp)
(a) debrossley Bz

(b) eflfame 2.
(c) gremnéEEd 3.
(d) Qeuiusflangey 4.

(@) (b)) (e (d)

(A) 2 1 3 4

(B 2 1 4 J

(Cy 1 2 3 4

() 4 3 2 1

(B) eflen_ Ggflwehdene
CCSEI-IAP25 84
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113. Choose the incorrect answer of forest Lypes and their species in

India.

(1) Evergreen forest — Rose wood, Toon, Ebony, Gurjan

(2) Monsoon forest - Bilver fir, Walnut, Deodar,
White Willow

(3) Tropical forest —  Chir, Blue Pine, Spruce, Cypress

(A) (1) only

(B} (1) and (3) only

JE€ (@) only

(D) (2) and (3) only

(E) Answer not known

Gpduneild o drar cuar suansmdr ehmib Seubdlen Germsdr upBiu seuprer
uflenand Gaire Gleluwiab.

(1) uvsens wrprd srE —  Gyrevay’, @er, smmismd, G

(2) ugEetapE s1H —  Geuemefl LA, ardpl, Caasmms,
Geuerenar el Gar

(3} yuosflu Cres enasr —  &af Legh enLetr, eluiignetn, ensLipeh

(A) (1) we@o

B) (1) wppo (3) v
(€ (2) v g

(D) (2) whpin (3) b @o
(E) eflen Qsflweflmena
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114. Consider the statements on monsoon and choose the right answer

(1)
(1)
(i)

(A)

B
©
®)

(E)

Most monsoon rainfall is caused by the depression over
Arabian Sea and Bay of Bengal.

The amount of rainfall increases with increasing distance from

the sea shore.

The eastern coastal area of Tamil Nadu remains dry during
Sputh West monsoon.

(i) 18 true

(1) and (i11) are true
(11) and (iii) are true
(i) and (i1} are true
Answer not known

ugeussTHD Lbilu sspmsafld sflumerabenD CGeitEsh :

(i)

(i1)
(iii)
(A)
(B)

(©)
(D)

(E)

SCneu sLd wpgb ehster dfiglrdd edar STDDWES Smpey
Flepaosenme) QUEHLLITTE L(HEIDENL) Qumffng-

s Camsde Gmpe b afsfsgd Gurg wenipulien  siemayb
sBsisdng.

@eanGiopE Lmuweapuen Gurg gblpssden Sipsm s Carrl LEs
eupam(EL SmammUiLGiD.

(1) sflwimeng,

(1) opmb (1i1) sflwrarene

(i1) wpmub (111) sflunemeane

(1) whme (i) sfwreraa

eflen @Fflwaiicrene
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115. Match the following type :

Match correctly the Nationalist Papers and its Authors

(8} Subramaniva Bharathi Swadesamithran

1
(b) Mrs. Annie Besant 2. Madras Mahajana Sabha
(e} G. Bubramanya Iyer 3. India
(d) P. Anandacharlu 4 New India

@ {m (o (d)

A 1 3 2 4
B 3 1 4 9
ve&Irs 4 1 2
(D) 2 1 4 3

(E) Answer not known

sflureraupennl Qummsas :

Caflu proflsg super sdfluen Quimsss,

- SOEsREHrdr

. Gledrenen insmgpar U
s wn

Lt @)l

(a) scnbypoesfio urrHurt 1
(b) Mrs. syeveflQurdn 2
(e) G. sonfmoefiv muir 3
(d) P. syenpsemigy 4

S

(@ ) (o (d)
4 1 3 2
B 3 1 4
€ 3 4 1

D)y 2 1 4
(E)  eflen Glaflweildena

3 B B
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116 Mateh the following s ¢

(a) Home Rule Movement 1. S. Ambujammal

(b) Kudi Arasu 2. Annie Besant

(c) Women's Swadeshi League 3.  Muthulakshmi Reddy
(d) Abolition of Devadasi system 4, E.V. RBamasamy

@ ® @ (@

wﬁ' 2 4 1 3
m 3 4 2 48
(C) 4 3 1 2
o8 £ 1

(E) Answer not known

Epssnamusubampl HUTGEHS ;
(a) =wm # Bussbd S. bl <SibLomET

(b) mywrs ~eyeimertl (o LIge

(¢) Queansdr &Gs8 stsd apdm Qe sl Gyl

e 02 bD

(d) Ggeugndl qpenp oy m.ideu. mrnsTd

@ ® (@ (@

(A) 2 HIE: | 3
(B) 3 $ 8 1
(C) 4 o 1 2

D) 3 2 1 4
(E) aflen Wamlweidaa
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117. Arrange the Conquests of Itutmish in Chronological order :

(1)
(2)
(3)
(4)

(A)

e

(E)

Bengal
Bilga Fort
Gwalior

Ranthambhor

(1), (2), (3), (4) (B) (1), (3), (4), (2)
(4), (1), (3), (2) (D) (4), (3), (2), (1)

Answer not known

Be Ruileiy-er Qaupflsameats sraaflamsi (AL

(1)
(2)
(3)
(4)

(A)
(C)
(E)

S M E T e LD
Sdar Csmian
Eeumai
rrengnELmT

(1), (2), (3), (4) (B} (1), (3), (4), (2)
(4), (1), (3), (2) (D) (4), (3), (2), (1)
efilenl_ Ggflwelldenea

118. Which of the following statements are true about the Houses at
Mohenjo-dara?

(1) It was discovered in Montgomery District of Punjab.
(i) Mohenjo-daro the houses were made of Kiln-burnt bricks.
(i) Kiln-burnt bricks in large quantities were used for drains.
(&) (1) and (ii1) only (B) (i) only

{i1) and (ii1) only (D) (i) only
(E}  Answer not known
CloranéresComaflgudrer  efifimenerl  Lifflu derauppth  smpmysefie g
TR0 7
(1) @8 wgssmbear wwmem CanQinf nmeu L gdlsy semifly st g,
(ii)  Qurangesrmsild fHad s Qons DEETTE 4 Emenel,
(111) &L Qemspad sfs seraia Ui ETEHEHEEL LwemUBEs00 T e,
(A) (1) whgen (11i) we @b (B) (1) i Gub
(C)  (ii) wppb (i) we @b (D) (ii) wi @b
(E) eflen_ Glafuichdames
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119. Pick out the incorrectly paired from the following: ~

(1) Smoke and Ashes : Opium’s - Amitav Ghosh
Hidden Histories

(2) The Golden Road - William Dalrymple

(3) Twilight Prizsoners : - Minakshi Dewan
The Rise of the Hindu Right
and the Decline of India

(4) The Final Farewell : -- Siddhartha Deb

Understanding the Last

Rites and Rituals of India’s

Major Faiths
(A) (1) and (4) are incorrect (B) (1) and (2) are incorrect
(©) (2)and (3) are incorrect 4B (3) and (4) are incorrect
(E) Answer not known

BypGlampsstu L aubfldEhs saunns Elaremrasrul L ags GHiHsHEnab:

(1) &Glond en’ gpagat | = Sifgea Gumeiy
grnSwibev afl dr sdiefav

(2) § Gsndrsr Gy - elldeflunn GLdoflibiEd

(3) Ceflmal Afeueriay : —~ Berngd Heums

5 enme 1 F BBE s
STl § ghmaran s GkAur
(4) 5 epuerd Suwflas - Aggnigs Csl
cmyetn_frefo B dmp i & emeul st
sy’ femeude ) @hdlu e

Guogglh SEL e
(A) (1) whpb (4) seumrarene (B) (1) i (2) seupremensy
(C)  (2) wpgud (3) saupreraa (D) (3) wppb (1) sauprarae

(E) dflen Ggfluciidea
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120. Reason and Assertion type :

Assertion [A] : In 1946, the Muslim League withdrew its

acceptance to the Cabinet Mission Plan.

Reason [R] : The Muslim League joined the interim

(A)
(B)

(©)

o

government formed in 1946,
Both [A] and [R] are true and [R] is the correct explanation
of [A]
Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
[A] 1s true, but [R] is false
[A] is false, but [R] is true

(E) Answer not known

smiyeerid whmd sudlymisd was ;

aucllumsge [A] : 19468 apevebhin ol SledrTenad SIEGG Thns

bsran_ s dlasds Garam g,

snraeh [R] : 1946Fd  mmusstulL BlenLsare  spenhiesid
(el s Bleanbsg.
(A)  [A] womo [R] Brenin =f wihgih [R] erérug [A] efipsrer sfwmren

(B)

(C)
(D)
(E)

cflandsELh

[A] whpn [R] BrarGi #7 sermi [R] erarug [A] eflbsmer sflwmer
ehlen&sih & cvan

[A] #fl, semred [R] pougy
[A] seig. sgenmes [R] o
silen.. Glsflallciana
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121. Aszertion [A] : DME played a leading role in the Anti-Hindi

campaign.

Reason [R] . Tt urged people to write under the Tamil identity.

[A] is true, but [R] is false

Both [A] and [R] are true, and [R] is the correct explanation
of [A]

[A] is false, [R] is true

Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

sapm [A] ¢ Aps. @nE egmigl Gurpmic gl opdsluwnran
LEGEE SEeE Claman g

arpearih [B] : Bgps.  whseers  Ellpt e B EDL LTS T
peilenemy apumEHuig.

(A) [A] &ft, e [R] seum

(B)

(€
(D)
(E)

[A] wige [R] &f, Guognb [R] ger slenési [Alseg eflwmeng)
[A] gaug, [R] &
[A] ohpn [R] sf, garmes [R] Ban cflerssid [A] &5 pumreang

eflen @i shlshenen
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122. On 24t September 1932, Poona pact was signed between 7

(4) Gandhi- Irwin
(B} Gandhi— Jinnah
Gandhi -~ Ambedkar
(D) Gandhi— Ramsay Mae Donald
(E) Answer not known
1932 b  mar®  Qeolour 240 Csd  yam  guukssBd
sl LS L euitrsar.
(A sngd - Eiielen
(B)  anpd - ghlarenn
(C) ambd - synCLgsi
(D) smpd - prinGs QwasG memean’
(E) eflen Glaflucidhean

123. Choose the right matches :

(1) Ferosha Metha — [hsciple of Gokhale

(2) Gopala Krishna Gekhale —_ Servants of India Society

(3) Dadabhai Naoroji — Drain Theory

(4) S.N. Banerjee : - Safety Valve Theory
vl (2 and (3) aréeorrect (B) (1) and (2) are correct

(C) (2) and (4) are correct (D) (3) and (4) are correct

(E) Answer not known
Fllwmren Gummgshsmer Certlsfss ;

(1) GGrresr Gussn -— GarsGaufelr £ g

(2) Garuna &lmesen Consta — Badlu sefuirsatien shisb
(3) sngmumis GrerGrrg — eulgErel Glerdrans

(4) 8.N. uremig) — LMEISTOIL] esligS1h CEmum(p
(4)  (2) wppb (3) & (B) (1) wpmd (2) &

(€)@ wpgb (4) & (D) (3) wpmibd (4) &

(E) eflen. @sfwechena
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194. Match correctly the Excavated materials with their corresponding

Excavation place :

(a) Shell Bangles 1. Azhagankulam
(b} Ring Well 2.  Thulukkarpatti
(c) Roman Coins 3. Kezhadi

(d) Silver Stamps 4. Vembakottai

@ ® @© @

(A) 2 1 3 4
V;B‘j' 4 "R | 2
(C) 3 2 1 4
o 1 4 2 3

(E) Answer not known

spmiehld Benps) GUnEELsmaTn, SEQPTUR) Gaiwdute @ dengsupb

(ol L3 T o

(a) siue aumarudsd 1. ypseigend

(b) esom Slemm 2. sgEsLLg

(c) Gomb mresTwikiseT 3. Epu

(d) Qeuerel sués 4. QeaubusGem’ e

@ ® @ @@
(A} 2 1 3
(B) 4 J |
(C) 3 2 1
(D) 1 4 2
(E) eflen Qgflwehdensn

B = B =
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125. Reason and Assertion type :
Assertion [A] : Muhammad Chur attacked the Fortress of

Tabarhind, a strategic point for the Chauhans of
Ajmer,

Reason [R] : The Ruler of Ajmer Prithvi Raj Chauhan marched

(4)

BT

(C)
(D)

()

to Tabarhinda and faced the invader in the first
Battle of Tarain (1191)
[A] 1s true, but [R] is false
Both [A] and [R] are true, and [R] is the correct explanation
of [A]
[4] is false, [R] is true

Both [A] and [R] are true, but [R] is not the correct explanation
of [A], [A] only is correct

Answaer not known

SMTERTD OHIID S hm suens :

sbm [A] D gy B Emmrrmﬁ@s@ e arGanumy  awwunrs

Bmps suralibsn Carl e mw qpewng Carfl srédanmt.

srramrn [R] P ogBfler | spc Awimarh Sfzell  grp  GQeemapnen

(A)
(B)

(C)
(D)

(E)

sunablam ey sefaesss Goam wsd sQridr
Gurfi (1181) e GuBiureray s & QsmadLm,

[A] #fl e [R] gaimy

[A] wpgs [R] @ravGib e arew. Gugin [R] erenug [A] e sflwmen
eblem&sLh

[A] geupy gpemar [R] &

(Al wopw [R] @remGe =M, sems [R] eenug [A]l & sflumes
dilerésoda [A] el @b &

chlen ClEfuielldrenan
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126. Which of the following pairs are correctly matched?

1. Right to Privacy

= Passive Euthanesia
3. Right to Vote

4. NOTA in Elections

(A) 1 and 3 are correct
VQB')’ 1 and 2 are correct
(C) 2and 3 are correct
(D) 3 and 4 are correct
(E) Answer not known

Justice K.8. Puttagwamy Rid.
Vs. Union of India

Common cause (Regd. Society)
Vs. Union of India

Ministry of Defence Vs. Babita
Puniya

Swapnil Tripathi Vs. Supreme
Court of India

Sleeumib §enemmatlss erg #fliums @umgrhsu jsrang) ?

j 2| (s 5 2 Menn

9. Qeuapp smaearsdsraea

3, cunksefssib o flenn
4,  Gergdsefd GHTLM

(A) 1 wpmb 3 &
B 1 oppb 2 &
(C) 2.wpmb 3 &
(D) 3 whmb 4 &
(E) el Gpfusbloama

CCSEI-IAP25
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mevgen  Gs.q Llesmbl  (gnia)
Ve, @idlu gembluih
smoem  &melt  (Udleys | srumh)
Vs. Bigfw gerplund

LIMEETLL]  enndash Vs, wflgr
LA

coauiaiie  Sfurd Vs Blidw
= Fshdlinenmib


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

127, With reference to the functional items placed within the purview of
municipalities, consider the followin E

(1) Regulation of slaughter houses and tanneries

(i) Safeguarding the interests of weaker sections of society

(i11)) Small-scale industries, including food processing industries
(iv) Technical training and vocational education.

Which of the above is/are correct statements?

(A} (i) and (iv) are correct

(B) (1), (iii) and (iv) are correct

(C) (D), (iii) and (iv) are correct
V(Bj’ (1) and (ii) are correct <

le] Answer not known

pagm_fseflar crdamasEda maubsliL{ dwer Glewsun Hié sevaliysamert
Gumpdgeiany, Seeu@aaabmps snafd Gands.

() Peopsfls @mimsd wigd Gsrad  ugefEnd Glemfpsreasener
PURIGLDEESD

() sppsgdler umefamoren G flefler Fasrsman umgsnssd

(i) eewra) LBLILESED Cemidsdr oarell L Ay sardanes Clamyfldmdr
(1v) Ggm@ompe u ulidd wpps Osmmded

Clopémem_euhmier ergferenal sfurarane o

(A) (i) whgd (1v) sflumarcme

(B) (i), (iii) whmbd (iv) sfwrereney

(C) (), (1) ohms (iv) sfunansna

(D) (1) whgs (i) sflurerene

(E) <fien. Gafluafaema

ﬁ a7 CCSEI-IAPZ25
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128, The Union Executive consgists of the

1. Council of Ministers
2. President of India
3. Central Secretariat
4. Vice President

Choose the correct answer by using the code given below :

(A) 1only (B) 1and 2 only
V{.Gfl 1, 2 and 4 only (D) 1,2, 3 and 4 only
(E) Answer not known -

g Aewen’ f gepils ugHuns B noss

SHFNDEFTEE (R
(EILITE SENe0El T

gl Geumad

(EHiq LIS AT Fenelel

-

Epdsngguh uflasail Lweruad sflwmer eflal e GaiplsRés |

(A) 1 wifn (B) 1 whmib 2 woc.Gub

(C) 1,2 wpmpud 4w Hib (D) 1, 2, 3 wipgeb 4 100 (Fub
(B)  efleni. Qgfusbiaoa

120, What is the definition of a child under the POCSO Act?

(&) - Below 14 years of age (B) Below 16 years of age
Below 18 years of age (D) Below 21 years of age
(E) Answer not known

POCSO s Lgflen &b e @pbmsuben cuanyLienp eemer?

(4) 14 sowdih o 0ol suitsd (B) 16 aswdlihes e Ll L @uifiser
(C) 18 cuwSim e UL eulisen D) 21 ewwBhs Lol euisdr
(E) efeor Gsflwsiidens

CCSEI-IAP25 98


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

130. Assertion [A] : Every Citizen shall have the right to move freely

throughout the Territory of India or to reside and
settle in any part of the country.

Eeason [R] : This Right shall be subject to restrictions imposed

W

(B)

(€)
()

by the state in the interests of the general public
or for the protection of the interests of any
Scheduled Caste,

[A] is true but [R] is false

Both [A] and [R] are true and [R] is the correct explanation
of [A]
[A] is false [R] is true

Both [A] and [R] are true, hut [R] is not the correct
explanation of [A] is correct

(E)  Answer not known

s [A] ©oabs @ @EuosadEn, @hfurdtdr Hanusdds
Fahdlmons Qebaabd, o @igwinyayh, eflssa)b
e flamn & ar{y.

smramih [R] P @ps e flewwreng,  Qugeurfiurer Gug  wasefiar
Eaver smblud, embs smpEsOUCCLrflén paer smdyn
SI&E 55D B Gremen [Susn T DS EESE) 21Ul g.

(A)  [A] &, myanrad [R] peugy

(B)

(C)
(D)

(E)

[A] wops [R] Srarmn &fl; CGugnb [R] [A] e sfiwrer alandsin
<D

[A] geum [R] &

[A] wpmw [R] @renGe sf; syemes [R] [A] & sfurer aflarisn
HEDED ETETLIE ]

ellenL_ Gafluichdemen
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131. Which of the following statements ia incorrect about India's Act

East Policy?

V[A{ This policy promotes proactive diplomacy with political and

(B)
(C)

(D)

(E)

military intervention to curb insurgency in the Asia-Pacific
region

This policy was originally coneeived as an economic initiative
This policy focuses on the extend neighbourhood in
Asia-Pacific region

This policy promaotes enhanced connectivity to ﬁEia-Paﬁﬁc
region through North-Eastern Region

Answer not known

Gemeugnn spmsels BpHursls £pss Gpradlu Generansifler Seupmen
GEDTSL

(A)

(C)

(

(E)

odlu udds Amrpdusds Herhsdenu SRUBES <Tfud wHmb
@mgne  peadler.  GQsndrl apempuihdl  TTRSEETESS
e 5alll S M &)

QumgrernsTy AperapuUhAILNG SEHSLILCLE

sfu ufbs GrpPugse eenar  UTDE shpiyngdd  seemb
Gegisdugl

2Py ufGE Gmpdusfer Gubufssuull Geary aurlens
aul &lpks Srmpfugdie Eanariamy Guobu [figd wg

e Sgfuwshldana

CCSEL-IAP25 100 ﬁ'
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132, The objective of the National Human Higlhts Commission are :

(i) To strengthen the institutional arrangements through which
human rights issues could be addressed in their entirety in a
more focussed manner

(i) To lock into allegations of excesses, mndependently of the
government

(1i1) To contrast and strengthen the efforts that have already been
made in this direction,

(A) (i), (ii) and (iii) are correct

(B) (1) and (iii) are correct
\’M (i) and (ii) are correct

(I (i), (ii) and (iii) are incorrect

(E) Answer not known

Gzl wells = fawsdr geamnuifd Crréstisdr :

(i) ez 2 fanosdér Arsflenansaen appemowned esurars sme Blgeuen
sbuTFEmaT augh UEHSEEeD

(i) sirsrisgass snomiod, oifls i wme EhmEsT Glsenar SLTmisd

() gz  fewde gpsata CuopRsrdeiul Gae  ppubdsmar
Capupsd agiusgsd

(A) (1), (i) whps (i) =0

(B) (i) wpged (iii) &

(C) (1) wpmpb (11) &M

(D) (1), (1) wpmib (iii) Seug

(E)  &flen Qufwisildena
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133. Match the following (Women Empowerment)
Name of the Act Enacted Year
(a) Medical Termination of Pregnancy Act 1. 2013,
(b) National Food Security Act 2, 2018
(¢} Rights of persons with Disabilities Act =~ 3. 2017
(d} Mental Health Care Act 4. 1971

(g @ (& (d)

@1 2 3 4
w4 1 2 3B
© 2 5 1 /8
@ 8 4. 2 A

(E) Answer not known

Epaetmcupeny QUmniHs (CUSTSERES DiFlsTTLoah &ss]
s gdew Wi JENTTHT T T W R
(a) wrSm el UInen SRESEWLIL SULID 1. 2013
(b) Cafw s arey Urgsriy sl 2. 2016
(€) wmndpae Gunrssiar o flamoser 010 3. 2017
4

(d) wempe urmofiiy &b 1971

@ ® © W

(A) 1 2 3 4
(B) 4 1 ' B 3
(C) 2 3 1 4
(D) 3 4 2 1

() clen Gpfluehdensy
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134. Which of the following is correctly pair/pairs?

E

o

3.

4.

(A)
B

(C)

(D)
(E)

Fifth Law Commission

Tenth Law Commizsion

Nineteenth Law Commission

Twentieth Law Commission
1 and 4
1 and 2
2and 3
Jand 4

Answer not known

K.V.K. Sundaram

Justice K.K, Mathew
Justice M. Jagannadha Rao
B.S. Chauhan

Slereumeuanaubiies erg)/eney sflwrar Genemr /@ emerse 7

1.

Z,
d.
4.

(A)
(B)
(C)
(I
(E)

EEEHTeUS S LD
LESTaUS FUL S enammiLih
LighiG s rebriigirLh L oy enenTiL L
BimUsreaum s 1 SpenemULD

1 iohgab 4

1 whpnd 2

2 dimn 3

3 wpgb 4

allen @aflweldaea
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135, Assertion [A]

Reason [R]

Art. 121 prohibits any discussion in parliament
with respeet to the conduct of any Judge of the
Supreme Court or of a High Court in the
discharge of his duties.

The objective of Art. 121 13 to ensure the
independence and dignity of the J udiciary.

(A) [A]is true but [R] is false
uﬂf Both [A] and [R] are true; and [R] is correct explanation of [A]
(C)  [A] is false; [R] is true

(D} Both [A] and [R] are true, but [R] is not the correct
explanation of [A] 18 correct

(B} Answer not known

smpm [Al

smrenrit [R]

pFanlGar Gfla] 121 meng o ssfflinammd e
swifdoap Sufsdr FA0 vafurppdap Gung
By 6 et et B enE Sl LI TiERLO0TE LD
ehlaundliuens geol Balfing.

Gfiey 121-en Cprésonarg  Sigmenpuen sm A FD
wpmih sdrafudes o 0l GslasmE.

(A)  smpm [A] &fl e sryemd [B] sem

(B) snom [A] whpib sniyewmb [R] @rerpw =f; Cogih sryend [R] sty
[Alssnen sfluren cilerdsmib

(€)  spm [A] seug smyend [R] &

(D) sapm [A] wopn smrenn [R] @rer@o &f; gpemmd smyemb [R] snbm
[Alasner sfluner aledsib sda aarg o

(E) eflen QgfMuwecene

CCSEI-IAP25
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136. Assertion [A] : Parliament has exclusive power to make any law

with respect to any matter not enumerated in the
concurrent list or state list

Reason [R] i VIII schedule of the constitution contains union

s

(B)
(C)
(D)

(E)

list, state list and concurrent list

[A] is true, but [R] is false

Both [A] and [R] are true; and [R] is the correet explanation of [A]
[A] is false but [R] is true

Both [A] and [R] are true; but |[R] is not the correct
explanation of [A]

Answer not known

sim [A] Aungiucmud whpid onfen o gud sduahdd

spUULIS Fermisdr Gamn furs s Lib Gubmb apap
dlsrygglenan Limprigmindh Glsmenmifareng

e [R] : sipeannl e VII-ag =0 aeer, wsfu ulywd,

(A)
(B)

(C)
(D)

(E)

wifley ulwwd whmb  GUTELLC LG S baD
(ol et (Bl g
[A] #fl, gperrdd [R] pauy

[A] wome [R] Grer@n sM; CSwgub [R] eenvg [Alss sflumen
aller&sib,

[A] saumi, —spemme [R] &6

[A] whmo [R] @rerfin sf; wyams [R] eerug [A] -&@ &l men
eflansminehen

eflen_ @afwefldana
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137. Match the Article :
(a) Audit and Accounts of Panchayats
(k) Reservation of seats
(¢) Elections to the Panchayats
(d) Gram Sabha

(@ @ (@© ()

._,ﬁf 2 3 4 1
(B) 3 4 2 1
c) 2 1 4 3
Dy 4 2 1 3

(E) Answer not known

sl efllfsmery BuUNHSHISE.

(a) sefsms nppib sanss LEHFTUSS &d
(b) @ seeE@ Qsr_fiye w Lgsnuss o
(€) ugremusgs Coisd g

(d) #gme senn sfild

(@) ® (@ ()

(A) 2 3 4 1
(B) 3 4 2 1
(C) 2 1 4 3
(D) 4 2 1 3

(E) eflen Gaflwieiicveana
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138. The False statements about the Legislative powers of the President

are

(1)

(1)
(11)

e

(B)
(C)
(D)
(E)

The Punchhi Commission has recommended that whenever any
state bill is sent to the President for his assent under Article
201, he should give his assent within a period of fifteen days.

Article 111 of the constitution gives details regarding the
President’s role in the law making.

The President is given the right to promulgate ordinances
under Article 123,

(1) only

(1) and (ii1) only

(1) and (i1) only

(11} and (iii) only
Answer not known

Bifus  Eeurss seoafldr sl fupgd efstmh  Eiés samrar
& b Sarmang

(1)

(i1)
(1ii)

(A)
(B)
(C)
(D)
(E)

Siysemoly o egoy 201-Ger Sp, s em wiflogder s
(pebausnyd  erLGUmpUsdand @aUned sanaaifan GULISE)ES
@ ouau@dnGer edbunys eadomnd 15 prCsemsmer et
BFMES a1 UUS@mal alphis GeudmBih e UEsd  Sevestwib
Lflhgler S5

Spsaoitler sl emoy 111 mes, s Guhpdld  @nwurss
geaauilar ubimss Ggaflans podg aptimdng.
Sireepiony #L egony 123 Edr &b, @uwrss sevamEs SeusT
Hene Spscengensi Gplniiss siflarmb QerDEsdrang.

(i) wi_@ib

(i) whp (i) weGb

(1) whmb (i) we @b

(i1) it (1) w0 Gub

ailen @afluaicrenan
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139. Match the following :

(=)

(b)

(e}

(d)

Justice should not be denied 1.

to anyone based on the grounds
of Economic (or) financial sethacks

Establishment of Gram Panchayat 2.

by providing needful powers to
these self governing units

Favorable, Humanitariate 3.

situation to work and to provide
maternity benefits to women

Ta ensure work, pay, favourable 4.

climate to Agricultural (or)
Skillful Labourers

(a) (b {;} (d)

(A) 4 3

3 4 1
2 6! 4

1
(B 1 3 9 é
(D) 1

(E) Answer not known
sfuraraubenn Gurmbss ;
(a) Qurmenmgny g B Buwraws 1,

(b)

()

(d)

ENTETONE ETe(REGD FL il
g S GITETE eTeLSl

&lpmo u@g&mﬁhmm ghupss Ceuanpb, 2.
B ENE L ullehr e &
Glewie_ & EUILIME S EmLD

auphisi L Gendr(pih eremLg

umﬂuﬂmﬁanm Blwimuiomer Wi 3.
it

LDGETl m FORL S 6T s Mk &L LI
Gmsﬁx L m%gum ﬁﬁam &;5?;51{5

QUPEISILIL earHD sTeTLIg

Grusran siag Agmblass ) 4,
QAgniflenreniis @ s %wmm. G pasFlLb,

Febay aumpseanssd SrEamsd sraidea

Ligmfluyflujin @mipds o mudl GeuGaanfib aeaLigl

(@ ® (©
2 1

{A) 4 3

(B) 1 3 2
i)

(C) 3 4
(D) 2 3 4

+
2
1

(E) eflen Glaflueiicema
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140. Which of the following statements is true about Article 217

(i) This article reminds us of one of the famous clauses in Magna
Carta.

(11) The constitution does not confer right to die.

(ii1) Custodial death is perhaps one of the worst erimes in a eivilized
society governed by Administrative Law.

(A) (i) only

BT (i) and (ii) only
(C) (i) and (iii) only
(D) (i1} and (1i1) only

(E) Answer not known

sirflewamolnidn Sfla 21 g updl Geneumb sppsafd s e arans

(1)  warsnsengde oearar o Ifesald yspbludm garen Eks ey
EsE, Hlevargnl BEmg.

(i) Sflueewiy s Lb @nésh e faoeal aphissddene,

(111} Blmeunas s ggrd speniufh Hrsfsd Fupgmugdles ETauel DFeRTD
e Clorsiorer gipisald gernmsb.

(A4) (i) i@

(B) () whmo (i) wifd
(Cy () wpgubd (1) we @b
(D) (1) whgid (i11) w G
(E) silen Ggfuweiichens
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141. Read the following Assertion [A] and Reason [R] and find the correct
answer :

Assertion [A] : Considering apart from, citizenship among in India,

there are two types of Aliens, Friendly Aliens and
Enemy Aliens.

Reason [R] :  The citizens of enemy Aliens also enjoys protection

(&)

against arrest and detention under Article 22,

[A] and [R] are correct; [R] is the correct explanation of {A]

(B) [A] and [R] are correet; [R] is not correct explanation of [A]
\“Ef [A] is correct; [R] is false

()

[R] i correct; [A] is false

(E} Answer not known

sapm [A] srpent [R] swens aflenr, sfluner e e Ceipdshiss |

mpm [A] r Gpfureie @esen Gaufl@usmami Spg LTEGD

Gurpg, bl sums sjdkafiursd, affl ams yarra 1L TsaT
cran (&) (R evamsudent B mddlenmant.

srpenris [R] @ efifl swemstulL memeflufseT SyyEsale (Gls DA E5EE.

(A)

(B)

()
()
()

amgenty sl smiy 22-an S esmEg e@grssyb,
BE0Y sraugisE aflprea)D LrgsTImL (& Ly e,

[A] woge [R] oeémn ErenEn s, [R] eremug [A] & sfumen
shlemdmunmsLh

[A] wppie [R] eenm Eoewib sfi: [R] eemug [A]l &5 sfwumer
sl E0da

[A] eremugy &, [R] eretig peup
[R] eramug) &fl, [A] erenuig seum
aften Ggfwedeana
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142. Match the following parts of the Indian Constitution with their
corresponding subject-matter,

(a) Part XIV 1. Elections

(b) Part XV 2. Amendment of the Constitution

(c) Part XVIII 3. Services under the Union and States
(d) Part XX 4. Emergency provisions

@ ) (© (@
w93 1 4
(B) 2 4 1
(C) 4 2 1
(D) 1 4 3

(E) Answer not known

s o W B2

Epssar_ @iy eisenubar Lsdsoar auhbler ganpantt Gumgmien

Qummigss :
(a) wed XIV 1. Cstsdieer
b)) usd XV 2. opseniiy £ Sossn
(©) s XVIIT 3. wiBu wpme wrdled ueflsdr
(d) ugd XX 4. UBmesy Beng ibshssr
@ (b (@ (d)
(A) 3 1 4 2
(B) 2 4 1 3
(Cy 4 2 1 3
(D 1 4 3 2

(E) e&fen Qsflwsfcvena
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143. “Clo-operative Societies” gave a constitutional status under

144.

Article 245 — ZH to 243 — ZT
(B) Article 243 — PH to 243 - ZA
(C) Article 243 — NH to 243 — ZH
(D) Article 243 — HZ to 243 - ZH
(E) Answer not known

“sl_(HDey STEISHISEHES BibE sl Aiflaar &) wirflueennlin] S5

auprislILL (Herargl

(A) spam 243 — ZH to 243 - ZT
(B) sysm 243 —PH to 243 = ZA
(C) srsm 243 — NH to 243 ZH
D) sysm 248 — HZ to 243 — ZH
(E) &flan Qeflwsiidaa

Match the List I with Lis¢IT: <
(a) Jal Jeevan Mission

(b) Beti Bachao Betipadhao
(¢) Swachh Bharat Abhiyan
(d) National Social Assistance Programme

@ G @© (d

Vil .o L

® 2 1 |8 4
(C) 1 2 : | 4
(D) 4 d Y. 1
(E) Answer not known

L g ey Teg Ll uich Il =\ e Gummss :

(a) bt aupriad SCLib

(b) isemers STUUNPN EE@ET]) Ui ds areu S LD
(c) gnisew FiHwur Ao ib

(d) Gsflu spps ogells Sob

@ @O © (@
a2z 4 1 3
(B) 2 1 3 4
C) 1 2 3 4
(D) 4 3 2 1
(E) eflenr Qglwetlaena:
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145. Consider the following statements about Women Helpline. Which

among the following statement is incorrect?

(A)

(B)

(€

s

(E)

Provide toll-free 24 hours telecom service to women affected by
conflicts seeking support and information

Facilitate crisis and non-crigis intervention through referral to
the appropriate agencies

Provide information about appropriate support services,
government schemes available to the women affected by
violence

Provide integrated support and assistance to women affected
by violence in public spaces anly

Answer not known

Cluarser o gefl eralm LHHlL Welieumb smbnsenend snams. Fema meuemeu b iics
erg) sMlwurensdda ?

(A)

(B)

(€

()

(E)

gprefmu(peugred,  umdésuulL QUansEnsE | SgETE) Db
seeudsenars Gshib 24 wafiCrr sl Lanfaar Ggreay Gsm iy
Cremauenw suipriyggd

Gummsswonen Bpeemtisignss Ulbaamiiugsn apaih Apméss. whmpb
Qmssn. sbans seanlil i aaflsrdEsd

euarapepwired urdssiuc. Quangnsss Sacdmth dummggoren
sEney Graveusdr, sirsd UL ksdt Uiy Ssedsamar supkiEse
Qumrg @ hseild D sweappapwrd urdssiul. GudrsEshe
gmudamanhs 4are) whnb o el apiEsd

eflenL Glgflwiefldana
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146. What are the objectives of public distribution system?
(i) It is based on income status
(ii) It focuses on the families of Military Personnel

(iii) It ensures by making available essential commodities of good
quality at affordable Prices every month

(A) (1) and (ii) only (B) (ii) only
"€ () and (iii) only (D) (iii) only
(E) Answer not known

Qumg eAFGwTE opempuiler GETSSRISE e 7
1) G sumorer Faauilda suglumuila o eTarg
(i) @ mene dptsafidn EHbuksme aULrES Hararpdrang

(1) @g.j gaiGans wrsaph wdla donud paw grorer sgSurafiul
ummarsaners. Hanl_&5é Qaiiaigen apalb 2 dsndng

(A) (1) wpme (1) @b (B) (i) o Gub
(C) (i) wpgib (11) 1w G (D) (iii) w Gub
(E) sflan. Gsflusiidea

147. The amount given under the Dr, Muthulakshmi Reddy Maternity
Benefit Scheme hag been increased since 2018 to Ras,

u&f 18,000/- (B) 24,000/-
12,000/~ (D) 32,000/
{E) Anawer not known

mEmaT  apdgeol sl Gl wedGum Jf,m.s.@u_l__daﬁlsﬂtﬁm 2018 apsaé
e wWigsOul (Hdrer & gels Ggnans apumi

(A4) 18,000/- (B) 24,000/-

(Cy 12,000/ (D) 32,000/

{E) oo Ggfwchlchans
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148. Match the welfare schemes with its beneficiaries .

(a)
(b)

Pradhan Mantri Jan Dhan
Yojana (PMJDY)

Mahatma Gandhi National
Rural Employment Guarantea

Act (MGNREGA)
(c) Pradhan Mantri Ujjwala
Yojana (PMUY)

(d) Pradhan Mantri Fasal
Bima Yojana (PMFBY)

(@ M (@ (d)

3 2 4 1

B) 2 3 1 4

() 1 3 4 2

(D) 4 1 3 2
(E) Answer not known

1.

Er

3.

Farmers (especially small
and marginal farmers)

Women from rural and
remote areas

Low-income houscholds
and economically weaker
sections

Rural households living
Below the Poverty Line
(BPL)

Bagfl L msener sflwren LweannafsEmLdr @lonamss S a)b

(a) Spsmren Sl gpeir e Cwimggenm
(PMJDY)

(b) wargonr srpd CsAw Srmociyp
Caemaeamning e SHrangs

s (MGNREGA)
(c) Srsmer whSf e geimem
Cumgenr (PMUY)

(d) SGosmer wEAMN Susd
tior Gumgenrn (PMFBY)
(@ (b (« (d)
(A) 3 2 4 1
® 2 3 1 4
(C) 1 a 4 2
2

(D) 4 1 3
{E} afilan) Qﬁ.lﬂu.lﬁﬁ B8 1)

115

5%

efleusmllsdr (mhllurs Ao
b o efleusmiilsern)
Slymodigp whpd Asreneas
HTU LysSsmars Caihs
dusmseT

(SN DS S (THLOTE i S s
lsram @ busisar whpb
Gummenngmy fHwuns
pellcuanL_E& WD&ESaT
eupjanind Gamiy s i
@ir(pih Egminlin @b msar
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149. Which of the following is incorrectly paired?

(1) CDI . — Child Development Index

(2) ABC — Achievements of Basic Children Needs

3 MPI - Multidimensional Poverty Index

(4) HDI -~ Human Development Identification
& (2) and (4) (B) (1) and (3)

(C) (1) and (4) (D) (2) and (3)

(E) Answer not known

EAérameuersupper eranal geaumre Gumgshsiuararg 7

(1) CDI - syiessdr eussd gilif

(2) ABC — @ybessaia snoue g Gamaselldr srgamansdr
(8) MPI — ue ufiomsr supenio @llvh

(4 HDI - wellg euentd SjepLwmenh sname

(A)  (2) opgo (4) (B) (1) womw (3)

(©) (1) wogn (4) (D) (@) wops (3)

(E) eflen Glpdlwelicena

150. Who introduced the modified scheme of elementary education which
provided part-time learning of hereditary occupations?
(A) K. Kamaraj #B C. Rajagopalachari
(C) T.Prakasam (D) Raja of Panagal
(E) Answer not known

uimbLers Qemfdsaman Ll Crmprs EhELD cuensudaD
wrpflumodstu’ L Ggmés shelll S0 faog sflopsliu@sSuei wm?

(A) K. smogmsy (B) C. grgGamunmamssnfl
(C) T Ap=rsb M) Lamd Sipsh
(E) cfAan Gsflwedena
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151. Choose the right matches :

(1)
(2)
(3)
(4)
(A)

(B)
(C)

Shyama Prasad Mukherji — Integrated Cluster Action

Rurban Mission Plans

Saansad Adharsh Gram Yojana — Skill training to global
standards

Rashtriya Gram Swaraj Abhiyan — E-governance in
Panchayats

Deen Dayal Antyodaya Yojana - Poverty alleviation
through SHGs

(1) and (2) are correct

_{1} and (3) are correct

(2) and (3) are correct

BT (1) and (4) are correct

(E)

Answer not known

silumen Gumsssiismar Ceihlshsaab.

(L)
- (2)

(3)
(4)

(A)
(B)
(C)

(D)
(E)

spwmor dgens opstdd miudr Segdr — qukdaanis e
ewdh A nuser

Frenss usivey Srmo Gwmegen - oasemedy srifhe Spen
LS

gy fur domb dvaugrgy sflurer  —  Lgrenuggiesfis Horeran
HiEhens

G gumer sypsCumgun Curgent  —  &U e gells @pssdT aped
U THenn gpUplCiLy

(1) whHpb (2) &

(1) whpub (3) &

(2) whgub (3) o

(1) wpgud (4) &l

eflen Gsflwelldene
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159. Which among the following is incorrectly paired?

(1)
(ii)
(i)

(iv)

(A)
(D)
(E)

Babu Jagjivan Ram
Chhatrawas Yojana

Atal Vayo Abhyuday
Yojana

Pradhan Mantri Jan Vikas
Karyakram

Pradhan Mantri Janjatiya
Vikas Mission

(ii) only

(1) and (ii} only

(111) only

(iv) only

Answer not known

Construction of hostels
for SC students
Improving the quality
of life of senior citizens
Socio economic
development of refugees
Strengthening tribal
entrepreneurship

Demeumeusraubper sayprs Blenandsiu Herarg gl

(i} wry mégeudr gmb ESrema
S ib

(i) s awbur sioysCs Soib

(iil) dgso widh g s
sminu&lro

(iv) (Spmw wpHfl gpangdu oflsmsh
Ewssn

(A) (i1} w@ib

(B) (i) whmb (1) wi B

(C) (iil) i @Eb

(D) (iv) wi @b

(E) eflen Gaflweidenso
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1563. TFind the elements of India’'s climate action :

(i)
(11)

(iii)
(iv)
(A)

(B)
(C)

a5

(E)

Net-Zero Emissions hy 2070

Increase Non-Fossil Energy Capacity and Renewable energy
share

Planting trees and stopping deforestation
Reduce Carbon Intensity and Carbon Emissions
(1) and (ii) only

(ii), (ii1) and (iv) only

(1), (iii) and (iv) only

(i), (i1) and (iv) only

Answer not known

Elpdwirsflen smeflancy Bl euig Eens e saguser wmaney 7

(1)
()

(111)
(iv)
(A)
(B)

(©
(D)

(E)

20708 @ flay yggu = 1fpe,

LemsLganopn < bmd Spdr whnd ugtiGisssss eissdulldar ukiens
2 flsflgsa
wiksaar BhHiges whpbh sm L deu Angnsd

sfo Selmb wHpb sflo = fpoas Gapiss

(1) hmpib (13) we G

(ii), (iii) whpb (iv) wi @b
(1), (1ii) whmub (iv) wi Gib
(1), (11) whmib (1¥) wi G
sflen_ Qs flucicenss
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154. Assertion [A] : A recent study by the World Health Organization

(WHO) commissioned by the Jal Shakti Ministry
reported that Jal Jeevan Mission would succeed in
averting close to 4,00,000 deaths from diarrheal
diseases, saving approximately 14 million DALYS. 7

Reason [R] . 1t is envisioned by the Department of Drinking

water and sanitation to provide safe and adequate
drinking water through individual household tap
connections by 2024 to all households in rural
India.

(A) [A] ie true but [R] is false
L{B’f Both [A] and [R] are true; and [R] is the correct explanation
of [A]
(C)  [A] is false, [R] 1s true
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
(E) Answer not known
spm [A] md 68 S@biFessra. Hudssiull. a8 SSTEHT]
ennnfdr sfugdu  Spiefla, mé  gadr  Uagen
andnyn  Cumdg Gemisemd  ebu b 4,00,000
Eouussas sBuinde Geadd Gugb b, Son 14
Llirebl e DALYS \SEssLBiIEEID eremmth
cuell LSS ICL S
s [R]: 2024 0 syem@sedr Armscup @pfuned edren
mmaEs  SpsEREEHD  Sallull @bt Eprd
@enewiiLser ppeih  UMFSTLILNG  LDHEID (GLimgomer
fep aupiis (@b OO SETETE SIS DUITED
C Bl U EeTens.
(A)  [A] &, cagenned [R] geum
(B) [A] opme [R] @renfo &0, oppd [R] eerug [A] e aflwme
eflar&snmgD
(C)  [A] seug, spennsn [R] &
(M [A] wppe [R] Greafn of, agermd [B] adawug [A] efips sflwurer
shlerdzndba
(E) sflen Qefucildaena
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155. Match the following :

Schemes Beneficiary

(a) Kalaignar Magalir L. Woman to travel in Govt.
Urimai Thittam bus at free of cost

(b) Tamil Puthalvan 2, Woman college students

who studied in Govt.
schools till 12t standard

() Vidiyal Payanam 3. Woman head in a family

(d) Pudumai Penn Thittam 4, College students who one
studying in Government
and Government aided
colleges

@ @m A @
2 4 1 2
(B) 2 1 4 3
© 1 ) 4
M 4 2 3 1

(E) Answer not known

\Hereuqmeusmaupenm sflwuns Aummsdls sm’Layb
- TMT LA sErT eI
(a) seoEr weafl o faows Sl 1. Cuenasgrdaran & wmas
BiTH GLmB&IL Liai

(b) =8 shaet 2. 12ib s iy euenT s
v . usaitaare Ligds Qs
sebgnl InmaRTe e

(¢)  efliguisd LweawTih 3. Qusdr Hbug seawadl

d) anll Gues b 4, 2T& HQD MrH o Sl

T . Qumpir  sdarflulfld  UgsEb
L BT Ll (T (6T 5

(@ (b)) @© (@
(A) 3 4 1 2
(B) 2 1 4 .3
(Cy 1 3 2 4
(D) 4 2 3 /|
(E) el Bsfudildaa
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156. Assertion [4] : Tamil Nadu Government replaced Rupee symbol

(€) with Tamil letter () in its budget 2025-26. /

Reason [R] . To ensure the widespread development of Tamil
Nadu to benefit all.
(A) [A] is true but [R] is false

(B)

Both [A] and [R] are true; but [R] is not the correct explanation
of [A] is correct

[A] is false, [R] 18 true

Both [A] and [R] are true; and [R] is the correct explanation
of [A]

(E) Answer not known

spm [A] sllprn®  Srs B 2025-26  w Gglnd
(%) Aarendms mad (. sph@E Uflors S0 eupssrear
. {epLmis) il jerars).

smyesnd [R] swaramiEn Luealagd awmstd sl  prge
Lipeusomen euatiéEfeny e il Gedsd,

(A) [A] i, e [R] seup

(B)

(C)
(D)

(E)

[A] wopd [R] @rawn@uw s, merma [R] aavg [A]l seusde
shlwmen eflarhai Syeber erenugy &1

[A] gaugy, [R] &

[A] wpps [R] @rankin & Gogib [R] esrug [A] fHdr sfwman
cHlerdELh

aflan Gsfweldena
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157, Match the following : /

(a) District with highest sex ratio

(b) District with lowest sex ratio

(c) District with highest child sex ratio
(d}) District with lowest child sex ratio

Them

The Nilgiris
Cuddalore
The Nilgiris

I S

(@ () @ (@

2 1 4 3
(B) 1 2 3 4
(Cy 2 1 3 4
(D) 2 4 1 3
(E) Answer not known

suTereibenn Glunkiss.
(a) e Quar ddd8sn idsib 1. Gsai

£ @rer wreul_ib
(b) et Queir Rdsb Emenpauns 2. paddf
£ &TaT Wwreul L b

(€) =85 gppes Gooy eldsd 3. s gt

e_grem wmeu L 1h

(d) sopis sppes ooy Hash 4. Badf
£ @Tar Wreliy b

(@ b @ @
(A) 2 1 4
B) 1 2 3
2 1.8
™ 2 4 1
(E) efeni Qaflwelidena

Lo & & w
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158. Tamil Nadu Chief Minister's Solar Powered Green House Scheme
(CMSPGHS) was launched for the benefit of the

Poor in rural areas
(B) Poor in the semi urban areas
() Poor in the small town
(D) Salaried class people
(E) Answer not known

sifips  ppsaenoksfdr il el Guiigb usew iR Al
gmrE L Ll

(A)  Agmodiyp gy LbEsEhESTS
(B} Afiu psfiiun gy WESEESETS
(C) pariup geny WsGEHESTS

() =sbue auEll LESERESTS

(E) eflens @aflinehldene

159. Due to Global warming the following are hadly affected.

(i)  Agriculture and Environment
(ii) Agriculture and Industry
(ii1) Agriculture, Horticulture and Environment

(iv) Industry
(A) (i) and (i) (B) (1) and (iii)
(iii) alone (D) (i) and (iv)
(E) Answer not known
el Qaituwen sugnd  Apdsem.  Fleepsen Cuoneswnns
unddstnBEng.

(1)  efeusmuib iHEid &bhmE@ELpd

(i) efeusmub wihgb Agmgda gan

(iil)  efleusmub, Gam' _smames WHELD &HIE@HLpeD

(iv) Garnfbsenp

(&) (i) wppan (11) (B) (1) wpms (ili)
(Cy (1i1) o Gud (D) () whm (iv)
(E) efen Glgiluebchams
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160. Which of the following statements are true about Child
Development Index (CDI)?

(1)  CDI was developed by the ‘Save the Children’ campaign.

(i) Health, Nutrition and Education are the three indicators
conventionally used for measuring CDI.

(iii} CDI is ealculated in the same way as that of HDI,
(A) (i) and (iii) only

(B] (1) and (ii) only
(i) and (iii) only

\,aaf @), (i) and (iii)

(E) Answer not known

@yphes aeriddl @G (CDI) upflu Geraims mppsafo ag o crawns

() ‘sypossmas sniGursd’ Aresrrgsrd CDI e mamssiiud g,

(i) CDI g wwdifashs apssors: vuduESsIURD  ppe
EhlEm wadr ssngmyib, s’y Sags wHmh Shefl o0,

(1ii) HDI semsd oo 2Gs sufldls CDI saarsdl_ OB ADg.

(&) (1) wpgubd (1) wi G
(B) (i) whmd (i) oG
(C) (1) whms (iii) wr i
(D) @), (i) wopub (iii)
(E) dfler Gefuisfdena
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161. Assertion [A] : The poverty line is determined on the basis of

calorie requirements.

Reaszon [R] . The poverty line is the minimum income required

to meet the basic needs of an individual which
includes food, clothing and shelter.

\'M{ Both [A] and [R] are true and [R] is the correct explanation

(B)
(€)
(D)

(E)

of [A]

[A] is true but [R] is false

[A] is false but [R] is true

Both [A] and [R] are true but [R] is not the correct explanation
of [A]

Answer not known

spbm [Al . aupend Gsrp  eaerug &Gl Caencusatien

g a8l SronaflssiuiEng.

sy [R] . apgews Cstf adUg G0 sefipufler  Sig LU

(A)

(B)
(C)
(D)

(E)

Caeasmeny Wigsl Gauws Cpmeawrar Gaphslcs
aumuorenorED. S o are) el dHHD SRGD E b
sl enay )L ighiD.

saim [A] wppun smpesnd [R] @rew@ib #fl, Guogih smyeons [R] saghmi
[Alssrear sflwnen eleabswngib.

smpg [A] sf ggeme smann [R] sam.

mpp [A] saup end snyemb [R] .

sipp [A] wppib smpend [R] @remGd &f, gpemmes smyeid [R] spm
[Alssmar sfwmer eflansswdea

ellen Glafliwiehldvansy
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162. Arrange the following programmes in chronological order : ~

(1)
(2)
(3)
€
(A)
(B)
()

o

(E)

Pradhan Mantri Awas Yojana - Gramin

Deen Dayal Upadhayaya Grameen Kaushalya Yojana
Pradhan Manthri Gram Sadak Yojana

Samagra Shiksha Abhiyan

(1), (2), (3), (4)
(3), (1), (2), (4)
(3), (4), (1). (2)
(3), (2), (1), (4)

Answer not known

\Hereumib Hrdsmars snoe fameliLg. Sieindsea.

(1)
(2)
(3)
(4)
(&)
(B)
(C)
(D)
(E)

Srgmer wh B sieuman Gummenn - ymben
S guimdr g Lngmumy dgmdr Qearsdw Guimgganr
Gipgmer wiff Hymb s5& Guirggenm

FInET HEapm o Gwurer

(1), (2), (3), (4)
(3, (1), @), (9
(3). (4), (1), (2)
(3), (), (1), (4)
shlen_ Qpfushaama
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163. The main aim of MUDRA Bank is to

@

(ii)
(i11)
(iv)

Provide financial assistance to develop Health Industry.
Provide credit to Micro, Small and Medium enterprises.
Provide Credit to develop Tourism Industry.

Provide financial assistance to rural development.

(i), (i) and (iv)

\13( (ii) alone

(C)
(D)
(E)

(i), (i1) and (i11)
(i) and (ii)

Answer not known

MUDRA aumdufieh (psdn Gynésomansg

(1)
(i1)
(111)
(1v)
(A)
(B)
(€
(D)
(E)

wEsEaE gopou Cubufss Al g oo

Ag. G whpb pHSsT AsnfiDH@nsE SLeT APkiEHD
shpeng gepaw Gubulss S_dr aipkiEGse

wrys auarisflée B8 o g Halsd

(i), (i) wpgbd (iv)

(ii) wr @b

(1), (1) wppib (i)

(1) whgud (1)

shlen GlgMwsshldana
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164. Arrange chronological orderfevent : 4

(1)
(2)
(3)
(4)
(&)

Mahalwari system
Ryotwari system
Zamindari system

Gramdan movement

(4), (3), (2), (1)
(3), (2), (4), (1)

vﬂ' 3), @), (1), ()

D)
(E)

Spser flapepsamer sma aufl@melin(izs

(1)
(2)
(3)
1€))
(4)
(B)
()
(D)
(E)

(2), (1), (3), (4)
Answer not known

wandair e
ruggent gpenn
g bangnfl (penp
willgmenid (pen
(4), (3), (2), (1)
(3), (2), (4), (1)
(3), (2), (1), (4)
(2), (1), (3), (9

eflen_ @gfiweildena
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165. Which of the following statements are true about the Fifteenth
Finance Commission? /
G  The criterion of demographic performance has been introduced
(ii) The criterion of Fiscal Discipline is given 10% weightage

(iii) The eriterion of Forest cover is replaced with Forest and
Ecology

(A) (D and (ii) only

(B) (ii) and (iii) only
&5 () and (iii) only

(D) (i), (i) and (ii1)

(E) Answer not known

ufieatgmeug Fd eerugast upflu  Seramb spbmsetiey erens

£ 600 L0 LI TETEraL 7
(i) waser Garens Gewd Hpaussren Laeflsdr s BlapsiuBEsiiuc Heavang.
(i) @é eusssfpe 10% ydreflsd aprsiubEng

(iii) snEsefler Lriy ergubd AfdHE0 ufors sT@ LHMD @Epadlud b
Gifley eiflgpstiuBssuc e

(&) @) wpged (i) ol G
(B) (11) whgb (1) wiib
(C) (i) whpb (iii) o G
M) (), (i) wpgub (iii)
(E) &flen. Qufueldena
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166, Identify the correct statement

(a)
(b)

(e)
(d)

v

(B)
(©
(D)
(E)

/

The rate at which the RBI is willing to borrow from the
commercial banks is called reverse repo rate

If the RBI increases repo rate, it makes borrowing expensive
for banks vice versa

Repo rate is a toal to control inflation
A lower reverse repo rate decrease inflation

(a), (b) and (c) are correct
(b), (c) and (d) are correct
(a), {c) and (d) are correct
{(a), (b) and (d) are correct

Answer not known

sflwrer undSwgeans sem_fis

(a)

(b)

(c)

(d)
(A)
(B)
(C)
(D)
(E)

suenlls auiidlsefiLBimis surnbign s_gissre RBI Qarfes of mbyh
iy AdgCe Sar QroGur afldgb

GraGur dldsseas oflsfiugd ppanh s dr aurkigesherar Crae)
siflafsdng. s aurkigeengd meonsdns

uvamdisssengs sGULESSD smaluns GroGun eldsh e drang
@aohs Bdr AniGur eB8gd Landisasamss wmennsdns

(&), (b} whpid (c) &

(b), (¢) wppud (d) #A

(a), (¢) wppid (d) &4

(), (b) whgub (d) &f

dilen.. Gsfudidama
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187. Which of the following statements are/is true about “Niti Aayog™ [

(i) Niti Aayog has been instituted to replace the Planning
Commission
(ii) It has no power to allocate funds
(iii) Niti Aayog is a think-tank
{(iv) President of India is the Chairperson of Nit1 Aayvog
(A) (ii) and (iv)
(B) (iv) only
(C) (1) and (iv)
JBT (), Gi) and (i)
(E) Answer not known
‘08 burs” upf Oempaearapner  ahsE  Sbp)mpRET
£ GETEn LD L Taranel 7
(i) Aocs Gudbet ufors B eGuns sendsiuceg
(i) sepdps B8 enés s@srmb @ome
(iii) FH Curs g Hismad Gy |
(iv) @pdureler myurss semai S8 obunsden genaat
(A) (i) wpmd (1v)
(B) (v) wipn
(C) (i) whgud (iv)
@) (1), (ii) whgb (ii1)
(E) &l Gsflucildaemean
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168. Choose the right answer among type ;

()
(11)

(i)

(1)
(A)
(B}

el

(D)
(E)

The Ashoka's Inscription was found at Brahmagiri.

Chinnamanur Seppedu mentioned Thalaiyalanganathu
Pandian Nedunchezhien,

Thirukkovilur Inscription mentions the death of Avvayar,
which was published by T.A. Gopinathanayar.

Ancient inscriptions not available in Karnataka till AD 10.
(i) and (iii) only right

(ii) and (iv) only right

(i) and (ii) only right

(iii) and (iv) only right

Answer not known

\Sereumauaraubpiar sflureraibeannd setr s,

(1)

(1)

(1i1)

(iv)

(A)
(B)
(C)
()
(1)

<=iBenatt  erpdm' Gunedsr aogit Gprpdusdd  Quowdfda
Hensdenmzy.

e ognuiié GsiCu@ FERENIL TaUE S e g L P ig LT
EnRestlaflumans sdloSGHEdngy.

H.m,. Genlprasmur udlbss SmeGenalart aysauGunt g
o it gippsmss GG Aams.

8. 10 b prapranh  eenrulld s mrlnd  efpssd
dlen_dmeflcvanso.

(i) whmid (1i1) w Hib s
(11) wpged (V) wi b s
(1) whgbd (i) oG &f
(iii) whmb (iv) L ED &f
eflen,. Ggflwelisensy
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169. Assertion [A] : C.N. Annadurai was fascinated by the self respect
movement, joined the Dravidar Kazhagam Party.

Reason [R] . CN. Annadurai treated Justice Party and

Dravidar Kazhagam equally. [
a1 [A] is true, [R] is false
. (B) [A] and [R] are true, [R] is correct explanation of [A]
(Cy  [A] 1s false, [R] is true
(D) [A] and [R] are true [R] is not correct explanation of [A]

(E) Answer not known

sy [Al . Herdr.  sdwemngieny, — subfiureg  SUSSHSTW
safpSlipssaul B, Smefl_t speifla Gerhgm.

smyemb [R] . Bedn.  sararngmeny, fHssLA  woppbd  Soreblf
Spageng swwNE BLbglemmt.

(&) [A] &fl. [R] e

B) [A] opow [R] &f, [R], [A] ssrer sfiuiner eflarésin

(C) [A] saup. [R] #f

(D) [A] wpmn [R] &8, [R], [A] ssren sflumen ahlorémd e

(E) aflen Qsfwelldana
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170. Which of the following statements are true regarding Vellore
Mutiny? /

()
(i)
(111)

(1v)
(A)
(B)

er
(D)
(E)

The Mutiny was lasted for eight hours.
The Mutiny was lost its importance due to local treachery.

After the Mutiny, the family of Tippu was transferred to
Madras.

The British captured more than 2000 Indian Soldiers.
(i) only

(ii) and (iii) only

(1), (11) and (iv) only

(11}, {1ii) and (iv) only

Answer not known

Geraimb  anrddumsels Cagmnt sewsbd OsTifueil e @renwnwren
S DTS,

(1)
(id)

(i1i)

(iv)

(A)
(B)
(©)
(D)
(E)

Spgs sosb o (G wafl Cprd wer Bossg.

SEgs sawsb edagrl( HCIrssistéd  sgar opéduisiagdeoen
Bybss.

Sz sosgfhs Goe SOy sdgrafldr  GHbub  Oedreernds
WIDDULIL L g

rdlGaoursar  2,000-55 Cupulc @pfu  Aourisesean
g Sgmiraerr.

(1) b

(1) wdigub (131) v Gun

(1), (i) whme (iv) o Gib
(i), (111) wppub (iv) Lor G
cllen Glefluaidmea
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171. Arrange the following events in their chronological order. |

(1)
2

(3)
(4)

i,
(B)
(C}
(D)
(E)

Periyar published the book ‘Pen Yaen Adimaiyanaal’,

Periyar started the Tamil bimonthly “TInmai' at
Tiruchirappalli.

Periyar was arrested for publishing a Tamil translation of
Bhagat Singh's pamphlet ‘Why 1 am An Atheist’,

The title ‘Periyar’ was conferred by the Tamilnadu Women
Conference held in Madras.

(1), (3), (4), (2)
(1), (4), (3), (2)
(4), (1), (2), (3)
(4), (3), (2), (1)

Answer not known

eremie Bspesamar seubblsn sraaflasiig aufleatLf SEey b.

(1)
(2]

(3)

(4)

(A)
(B)
(C)
)
(E)

Quflunit Qs ger @iymbwiranre e Lisasdens Geuafldlm.

QuAlLnt ‘ecrmn’ eap sip Sewrs Bse0 Himafgrivenefiuild
Glgm_midenmi.

uss Andlen ‘prar e Ergdeen eap gerE Grsgsden Sl
@ wmySl Gl L e Ceuefll L shens Gufvrt ensgs e Ciun L.

QAeamanande poLGubp sulipprE Guersdr B ‘Qutunt’ erarm
L LD GuLpEIES LI LI L -

(1), (3), (4), (2

(1), (4}, (3), (2)

(4), (1), (2), (3)

(4), (3), (2), (1)

aflan Qgfsiidama
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172. Which of the following statement/s isfare true about the rationalist
marriage system ‘Self Respect Marriage’, devised by Periyar?

(1)
(i)

(1ii)
{iv)

(&)
(B)
ey
(D)
(E)

The Self Respect Marriages were conducted without any
priests or chanting of the rituals in Sanskrit.

They were often deliberately conducted in times considered
auspicious.

They did away with thali-tying ceremony.

The couples took caths promising to treat each other equally
and as friends.

() and (iii) only
(i), (1) and (iv) only
(1), (iii) and (iv) only
(1}, (11), (i11) and (1v)

Answer not known

Guflwmt  aigeengs ‘susfiures  Amwens’  eadap  Usssblays
Slminemdansl Lbifiu Sletraumily fabpisatled erm/eranay swireang 7

(1)
(11)

(iii)
(iv)

(A)
(B)
(©)
(D)
(E)

sunflurmss  Smoamtisar aps  yeiflsgs EHooncd  msbog
aodudlmssle sLmigser o defldmimod H s e

Siaan Gumhurgd Geudd (G warGp LOFRISETET AT HENSE  EMmE0LIHILD
Crrusaia HLSs0L L e,
Sjeuiser gmell sC G ofl prevau gufigsar.

shufledr @ramEdermat snnrsab FETUTSaTTSaN BLEEIauETE
o pwatigg sdfuh Qelgseant,

(1) whpub (1) we G

(1), (1) s (Gv) e Gib

(1), (1ii) whmd (iv) wi G

(1); (11}, (iii) whpnd (iv)

eilenL Cgflweldeanc
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173. Assertion [A] : Justice Party opposed the Home Rule Movement
of Annie Besant.
Reason [R] . Justice Party feared that Dominion status would

(A)

9

(©
(D)

(E)

give more powers to the Brahmins. /

[A] is true but [R] is false

Both [A] and [R] are true and [R] 18 the correct explanation
of [A]

[A] is false but [R] is true

Both [A] and [R] are true but [R] is not correct explanation
of [A]

Answer not known

smpp [A]  : pRsscs  serafiQusdngdr  peenTLS Bussios

aHiTEEs.

smyamd [R] ¢ Qomdblefludn oy meg Ll rrneRT TS (@& il

(A)
(B)

(&)
(D)

(E)

Sifsrralean auphisssmin Tar SameaUULLg.

[A] zsimanw senrd [R] soup

[A] wpgn [R] @ran@d edreme Gogid [R] ererug [A] eAparer
Filwmer ellendsn

[A] geugy <gpeanmeD [R] e arenwo

[A] wopn [R] Brerfd o dman gy [R] eemugm [A] eflpsmen
s mer ellem&sD iebe :

sflen.. Ggfusiidana
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174, Arrange the following events in chronological order. .~
(1) Kamarajar in Vaikam Agitation
(2) Thirunelveli riot
(3) Madras Mahajana Sabha
(4) Swadesi Sangam
(4)  (2), (3), (1), (4)

\,JBT' (3) (4, @, (1)

© @,@,0.6
(D) (1), (3), (4), (2)
(E) Answer not known

ereumb Aspasmad sraupeanplilig auflensiL Gk .
(1) eeussb Cumym’ L gl smopmgih

(2)  BrpdeaGadd swsb

(3) Qodrenen arsen senu

(4) =Csdé srisn

(4)  (2), (3), (1), (4)
(BY (3), (4), (2}, (1)
(C) (1), (2), (1), (3)
Dy (1), (3), (4), (2)
(E) dfen Gasfwelidena
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175. Which of the following statements are true about Anjalai Ammal?
(1) Anjalai Ammal was pregnant while in prison

(2) Anjalai Ammal born :n Chennai took active part in Neil Statue
protest

(3) Husband of Anjalai Ammal was not interested to participate in
freedom movement

(4) Anjalai Ammal served as Congress MLA from 1837 to 1946

(A) (1), (4) THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE
THE EXPERT COMMITTEE FOR FINAL DECISION

B) (2), (3) o bt ,
G@eGasradl whHmith allsmL. @midl (pyeilmhsHTs

© @)@ SUSLEVIMT (G (LDATISH (L06H MEUSSLILIL. 2 SN,

(D) (1}, (2)

(E) Answer not known

Sygraaned SyhibmensT Lbil emeush s pisefies arg feraney aflumeng) ?
(1) sgssea sbordr SAopudda BGbs Gungl situors GuobsT

(2)  Qoenenemid Gmps -sighraauibwnd S Foo Curpmigld apssu

LIfE audlEgmT

(8) sgsmewboneia serar sgidmn GurTCLhd UkiG Glupieuens
eblgmLbLct deane

(4) . sygrseewbiora SMEETE o7l 6. arE 1937 pppe 1946 ey
L gt Wbl

Ay (@),

(B) (2), (3)

(€ @)@

D ),

(E) efen Ggfluchshana
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176. Which of the following is incorrectly paired? S
(1)  Sir Thomas Munroe — Licensing Act of 1857
(2)  Sir Charles Metcalfe — Liberator of the Indian Press

(3) Lord Wellesley — Printers name at the bottom of the
paper
(4) Lord Canning — System of License and Censorship

J& (1) and (4)
(B) (1) and (2)
(C) (2) and (3)

(D} (3) and (4)
(E) Answer not known

Sereumeuaraubiles ey samrs Baandsiuc Hidrers 7

(1} & gmosv werBpn — 1857 sgib selv(® o fMwé & Lib

(2) &7 snreen Quisrtl - @idu uidflsessatar el (Bena winari
(3) Gesbeeudl Sy —  gneflen Gy asstAumblwmert Guiun
(4) smafld Gpy —  eflew whnd sefsas apanm

(A) (1) wpmib (4)
(B) (1) wpmb (2)
(C)  (2) whgr (3)
(D) (3) whmn (4)
(E) efene. Gsflucldenc
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177. Which of the following statement jsfare correct about Vaikam
Protest? A

(1)
(2)

(3)
(4)

(A)
]
©)

)
(E)

George Joseph of Kerala acted as the mastermind in the
Vaikam Protest.

Gandhi had difference of opinion about the involvement of
Christian George Joseph in the untouchability issue.

Statue of George Jozseph was erected at Madurai.

George Joseph and Karur Neelakandan were not interested to
join Periyar on Vaikam Protest.

(1), (2), (3), (4)

(1), (2). (3)

(1), (2)

(3) only

Answer not known

Eipisreimusp e egiaeres eaidsn GumTTLLLD Ui sflwmer s b ?

(1)

(2)

(3)
(4)

(&)
(B)
(C)
(I
(E)

Cagermaneus Csips muig Gl eadsh GUIpLLESd gpaaurs
(ol i LT

Bam_menioé Hesdle dficvgeurrar gt Cagrals &b Cardagd
sl smss Caupunf GememgBhETT.

mridy SmpreGdn riLeney Sana wgenuien Bpeuiu Geang.

mrigy Gegrstiih, st fosdrigib @ufiurt eassn Gumri L gdd
seibg Csreraueng oflmibueideame.

1), @), @), @)

(1), (2), (3)

(1), (2)

(3) o Gib

sfen_ Asflweidens
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178. Match correctly :
(a) Kolliporai coins
(b) Peruvaluthi coins
(¢) Bead Making Industry
(d) Textile Industry

Sl R

@ () @ (3
v 2 1 3
(B) 3 2 1
(C) 2 1 4
(D) 4 2 1

(E) Answer not known

Lo @ = e

Hemaumeaarahenn Gunmsgs :

(a) QsrodluBumenn mremmu ks

(b) Qumepd pramuriser

() weflsdr 2 husd Coluys Oamffsmena
(d) mewll & pugds Gemfdeneana

(@ ® @© (@
A 2z 1
(B) 3 2
(C) 2 1
(D) 4 2
(E) efen. Gsflwelciena

4
4
3
3

= e =

B 143

L0 Do M

Pandya Kings
Chera Kings
Kangayam

Mohenjodaro

urrihnq_uJ MTRET
Gariser

smiGmwith

CluorsgresrByr
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179. Reason and Assertion type :

Assertion [A] : Archaeological excavations  conducted in
Pattanam, Ernakulam, Kerala unearthed signs of
early Roman trade.

Reason [R] : The excavation proved that Pattanam was a part
of Muziris, the port city of the Sangam Cheras.
(A) [A] is true but [R] is false
\)Bf Both [A] and [R] are true and [R] is correct explanation of [A]
(C) [Alis false

(DY Both [A] and [R] are true but [R] is not the correct explanation
of [A]
(E) Answer not known

smipeanih WhHmb smhm STESE

samm [Al . Gaperh, efenm@egde edrer ulgemb  Srmogdd
FLgstL L Gsnaeliud SEpeunymiEs  Gsr sssma
Ermoraiu ansfisgass Delabsdng.

srramih [R] + prassmen Guppstsefien geanpaps HEJTERT appluden gm
Lgduirs ulierh SEbBEE STEUSE sy pau mrmiL ]
FlmAafmng.

(A) [A] &fl sgennad [R] seum

B)  [Al g [B] s wppud [R] eang [Al-dr sflunar eréad oy
(€) [A] paum

D) [A] wpgis [R] 5 sares [R] araruigy [Al-dr sflwnen eflarssid side
(B) s Gpfuddas
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180. Match the following customs with literature :

(a) A custom performed by an 1. Ruruntogai
unrequited Lover
(b) A custom of mixing Palmyra, 2. Manimegalai

sugarcane juice with coconut water

() Custom of offering crow with 3. Tholkappiam
white rice and Ghee

(d) The custom of painting the walls of 4. Purananuru
private houses

(@ () ( ()
3 4 1 2

B 2 4 1 3
) 4 2 1 3
M 1 4 3 2

(E) Answer not known

Webaumh Lipss aupdsdisaar Bladfuiy dr Qurmpgsajib.

(2) wf enmtisng srsoand Qe 1. mpplgras
PO s

(b} @erfifid Lumer wHmD &mbyFeTy 2. nenflGuaaa
pdlueubhenns sebEn aupssD

(c) Qeudrenen 8 wibmnb G e 3.  Ggmbsmidw
arE@asE ableudud Geiib s

(d) cdfaaien seuisefid gelluib £ G 4. ypmremm
SULp&SLD

a) (o) (e ()
(A 3 4 1

2
B) 2 4 1 3
(C) 4 2 1 4
m 1 4 3 2
(E) efen Qafweledenen
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181. Which one is belonging to the Chapter Gratitude in Thirukkural?

(i) Self control of senses, like a tortoise, focussed on results, affords
everlasting protection

(ii) Equality is up rightness in thought and conduct always guided
by a rational mind
(iii) A friend in need is a friend indeed; do not forget him or forsake

comrades
(i) only
\,@{ (iii) only
(C) (i) only

(D) (i) and (ii) only
(E) Answer not known

Qemsumeauatauppier ehss Gpdr Gaip parflufisd fsmsmps FTIHES ?

(G gmerwwdr ganoGLind mbs Sads < bHilsr
enjpeRinugb gromll LenL S

(i) gl cargenp parGp LGHWTD
LB Gpst Qo

(iii) wpeups wrehprr Cearamn Hpebhs
SlemuggieT & UMt By

(A) Q) wifub

(B) (1) wi b

(C) @) wiGd

(D) (), (i) v’ G

(E) eflen Geflweildenea
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182. Based on the verse of Thiruvalluvar, “Four ills eschew and virtue
reach” arrange the following human qualities that will make you

reach virtue :

1. Anger

2. Desire

3. Malice

4. Bitter Speech

(A) 2,3,1,4 (B) 1,2 4,3
{E:' II1’:| 35 2! 1 M -3, .2, 1, 4

(E) Answer not known

‘Bpssr Hudpg Siph’ e wenenet @peflded Glenamn (EeRTTR ST
ST EDEUILI () 6 515

1. #lenb Qardrnensd (Qeuggat)

2. s Qardngssd (Seur)

3. Qurprenn Qarerared (=iipdsmy)

4.  shiEsGlemd smpd (G ehenréblFmed)

(A) 2,3, 1,4 (B) 1,2, 4
C)y 4,8 2,1 (D) 3, 2
(E) dflan @sfwetidena

-

a
4

-

183. Reason and Assertion :

Agsertion [A] : Athperann who thinks that he will not be despised by
others.

Reason [R] : He will refrain the thought of attaining any object
with a forgery from entering his heart.

[4] is true [R] is true

(B) [A] is true [R] is false

(C) [A] is [alse [R] is true

(D) [A] is false [R] is false

(E) Answer not known

Salm wHmb Snarh s

s [A] T Gmrmed spuLuLmod®  @més  Cadmfin ey
& AT G LI ELI T

smyeawib [R] P wrlgmy  Qunmensruh  sdagflanmd Sl s
aramemTD Glp & usTELY EThsd Gardraune

(A)  smpm [A] #7, smpesrs [R] sl
(B) s [A] &l smyemnd [R] seum
(C)  spm [A] gaum, smrems [R] &l

(D) apm [A] seup. smpemb [R] seupy
(E) eflen Geflwedlcbene
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184. Chooge the wrong pair :

1. Thodakku —  The ornaments on the neck

2 Andalai Aduppu — Cock shaped

3. Iyavithulam —  Weapons for gouging the eyes

4, Yeri Chiral —  The equipment to stock Bow and
arrows

(Ay 1 and 4 incorrectly
(B) 1 and 2 incorrectly
(C) 2 and 3 incorrectly

) 3 and 4 incorrectly
(E) Answer not known

gaprer Benamanius samfis :

1. Ggm &g —  susdh ulnlmssn shdd
2. apaniee B0y —  Geaud eugeinang

3. gueilggarb — sameand CaTSED SumD

4, eflége —  Bbysest evsugEsid erhdrb

(A)  1wpged 4 gaum
(B) 1 wppbd 2 gaup
(C) 2 whpbd 3 gay
(D) 3 wppb 4 saup
(E) efenL. QEflusiiaoene
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185. Matech the following :

Excavated sites in Tamil Nadu

(a) Chennai

(b) Tanjore

(c) Dharmapuri

(d) Erode

(a)
4
B) 2
(C) 8
(D) 4

(E) Answer not known

Gurmasgs :

1
1

1

B B

Mallapad:
Kambar Medu
Kodumanal

Pallavaram

sllpesdd sspnie Cuh@srdreniu L Bl kisdr

(a) Qeserener

(b) mgsemgyt

(c) sl
(d) mGyr(

(a)
(A) 4
By 2
(C) 3
(D) 4

(E) &aL Gsflusiieana

(b)

2
1
1
1

(c)
1

3

2
2

(d)

I e e Q2

1.

2
3.
4

149

Livghl € i Tig
sburGod
(@& (B oesrd

LIebie e L
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186. Choose the right matches among iype -

1.

2.
G

4.

In the ancient day, it was Tamil culture to conduct marriages
on a spread of sand — Akananuru

The Groom fastened a thali upon the Bride — Tholkappiyam
There was a practice among the people of the bride to give
dowry to the groom’s family — Nannul

There was the practice of conducting the marriage infront of
fire — Silappadikaram

1 and 4 are correct (B) 1 and 3 are correct

(C) 2and 3 are correct (D) 3 and 4 are correct
(E) Answer not known

et meuarahmer QurmEGorerahanms Ceipbsfss.

18

Lgresragda Bl piradr fmvessAle weme urid elpr a@sset —
<SABIT ST TN

9, wewnaEsE warnsan Grdl siafeilbse aupssOTGD - Qardsmu@ud

9. memrnaeT o geAt  ewnDSeN el ThEE SUTELSEmaT AsmR&ED
aupds Al mhss ~ BATGTD

4. § Qppuuce Ceadrslls Smuwenb - Aaluglsrmb

(A) 1 opps 4 s (B) 1 nphpib 3 &

(C) 2 wppbd 3 & (D) 3 whmd 4 &

(E) ebleni Qefueidana

187. & Men working 9 hours a day complete a piece of work in 20 days.
In how many days can 12 men working for 10 hours a day complete
the same piece of work? :

(A)
(©)

9 days (B) 10 days
11 days Vﬂﬁ 12 days

(E) Answer not known

8 pufser gy preverse 9 wesfl Gmyb Baema Qeigrd, g Ceumeenu

20

piesefler gpguiuf. sGs Caumaaw 12 purss G prrenendcs 10 woenil

Gemb Geueme Geligme adsene mrosafld pwliug?

(A)
(©)

9 prse (B) 10 prser
11 mri s {D) 12 pm_=eh

(E) eflens Bsfwusiléana
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188. Three circles of radius 8.5 cm are placed in such a way that each
circle touches the other two. The area of the portion enclosed by the

circles is
) 1.967 cm® (B) 1.875 cm®
(C) 19.67 ¢m® (D) 21.21 em?

(E) Answer not known

b 3.5 Gs.d eanw mpdrp e Liiser erREsliug, eupdlé @diB@eur
QULLapd wHm Erer %Euﬂm}gm GEmRmmDn g{gmﬂau@ﬂ% Eﬂiﬂﬂ%
HELILLBISEEES Een Liuc L Lgdulan umliuerey

(A) 1.967 Qs.82 (B) 1.975 Q=52

(C)  19.67 Qls..82 (D) 21.21 Q.82

(E)  sflenr GlgMwshdene

189. If the difference between S.I and C.I for 3 years at 5% is Rs. 183,
then find the principal
(A). 18,000 g (B) 8,000
24,000 (1) 30,000
(E) Answer not known

3 aempaEse sarsdll rd,  sefl e wdebh, i Ul g Eih
aLGuudrer efgfluinsn m. 183-aus 5% @nh euly aEHfd
&0 g5 meD a&aﬁlﬁr‘sﬁﬁﬂq ﬂd'r‘g'r? = = v Sepd
(A) 18,000 (B) 8,000
(C) 24,000 (D) 30,000
(E) el Qsfusidamea ;
#
190. Ramesh deposited Rs. 15,600 in a fixed deposit at 10% per annum
simple interest. After every second vear he adds his interest earning
to the principal. The interest added at the end of 4t year is

(A) Rs. 1,716 (B) Rs. 1,560
& Rs. 3,744 (D) Rs. 1,872
(E) Answer not known

gGwey e 15,600 waiyd Gemmswrs 10% seflecy «dsshd
8 cﬁ‘iﬁ* Gﬂgﬂ.ﬂmm‘r. @Eiamrr@ I-l%|;rsu'|r|_rnmn;|.1itw pnallaih et sl
SrasmL  ssgyen  Gevansdprt  aafidy Bremsmb  ogamiger  apio el

Eeaardsiufin aullgs Qerens LD,
@) @ 1,716 B) @, 1,560
(C) @ 3,744 (D) o5 1,872

(E) &flen Qgflwishdbena
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191. The salary of A, B and C together amounts to Rs.33,300. If they
gpend B0%, 85% and 76% of their respective incomes, their savings
are as 7-68:9. Find the salary of B.

(A) Rs.8,000 (B) Rs.10,000

(Cy Rs.15,000 BT Rs.12,000

(E) Answer not known

A B, C gACuri Gugd ssfutsdear spisw o5.53,300.  seufrsen
SiaugaimemLL suporasSd Eahs apepCu. 80%, 85% whmbd T6%

Qamay Ceudapart. Clogib SefsEhenL i Cafoy T:6:9. eafld B-o
sarFlih erewe 7

(A} 5.8,000 (B) @.10,000

(C) em.15,000 (D) 12,000
(E) eflen Qafuetldame

1692, Three numbers are in the ratio 3:4: 5 and their L.C.M. is 2400. The
H.C.F of these numbers is

40 (B) 80
(C)y 120 (D) 200

(E) Answer not known

3:4:5 aan déssde s@uops 3 aainsafiar B.Qumis 2400 eafid
sailer 5. Gl e, .

(A)y 40 (B) 80
(Cy 120 (D) 200
(E) cfleni Gaflwsildaan

193. If a, b are two digit numbers such that HCF|a, b)=15. Then how
many pairs are available?

SO 1 (B) 12

(C) 14 (D) 15
(E) Answer not known

(@, b) e BuQum Gurg augsd 15 wppbd a, b mflene miloss aamsdr
erafilé [Bebeuny sTASenen (e oTelTHeT amaariiL(puEl ammet 7

(A) 11 (B) 12

(C) 14 (D) 15

(E} &fleni Geflusiidena
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(E) Answer not known

i &
6 4—%} 2 6 2
55 5-3/ ~§ B¢ {+_@¢ }
—E 72
1
(A) 1E (B) 2 49
I?
(C) lﬁ () zg

(E) eflenr Qsflwishlbena

195. In an A.P, t, —¢, = 20, Which ene of the following is false?

(A) We cannot determine fivst term
(B) Difference between first term and 108 term is 60
(C) AD. of 12t ferm and 20t term is 16 term
A.M. of 5% term and 30 term is 17t term
(E) Answer not known

@6 LGSz fa L —f, =20, aala déapaeaupile ag saiprans

(A)  apse epiteu Sforaliss uens

(B)  apgedr e pifipeb 107 o giGdgin e drar egBursw 60

(C)  12% e pruSpsin 20 2 gnSp@Eid s GF syred 16%8 B mitiy
D) 5™ egudpeEd 30* e mulbEn s GE eyafl 17 2 goy
(B) &flerr Qufuweideana
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196. Mary is 16 years old. She is 4 times older than her brother. How old
will she be when she is twice his age?
(&) 20 B 24
(C) 28 (D) 32
(F) Answer not known
Gofl eauafia spGurmsu awug 16. swer sag sibGulledn enuang ol
4 witig Guiived aafid Seud SaE shiffdr auweng el 2w
QuRiweuerts @mswbd Quragg, Cufllar aiug eemean?
(A) 20 (B) 24
(C) 28 (D) 32
(E) oAe Qgfludiaama

197. Pick the odd one from

CGKO : BFIN : AEIM : FDEN

(A) CGEKO _ (B) BFJN

(C) AEIM @) FDKN

(E) Answer not known

Qampastiu’ _apper Ggrfildans aipsanss saL ey ?

CGKO : BEJN : AEIM : FDEN

(A) CGEO (B) BFJN
(C) AEIM (D) FDEN
(E) dflens Qafluebidens

168 There are 5 machines that make 5 parts in 5 minutes. How long
does it take to make 100 parts in 100 machines?

L0 5 minutes (B) 100 minutes
(C) 50 minutes (D) 30 minutes
(E) Answer not known
5 enpfirtisdr 5 urskisenar 5 Flul dusefla gumflsgomanms 100 erpflgriisen
100 ursismer adeeray fiufl msefld gurflagb
(A) b fludlrsdr (B) 100 Bl e
(C) 50 Gl ruser (D) 30 Bl dusmer
(E) &flem Qpilushsbensy
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199. When we write like this A1B4C9D16... Z876. what is total value of
the numbers followed by P and Q7
(A) 770 (B) 677
(C) 869 (D) 481
(E) Answer not known

A1B4CID16..... 2676 eran erppagid Gumgl P wppd Q- Gsrimiu@in
cremseiien Qomgs whiiy ererar? THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE

(A) 770 (B) 677 THE EXPERT COMMITTEE FOR FINAL DECISION
E% f;ﬁ.. Bsfwuefldame e pesadel boow Aol Anid (pualnsrs

SUSSYI BT GDETISH (L0GT HEUSBLILL 2 GTang).

200. Given below are 4 pictures of a cube.

Which number is on the face opposite to E_-?

A) 1 (B) 2
ey 4 (D) 5
(E) Answer not known

ACip prems, sersg s Cerfést Ul ereran

PP

o arenp erareniih wrflGr o drer LISsSElS augED e

A) 1 (B) 2
(C) 4 D) 5
(E) eflen Ggflwehldena

B 1565 CCSEI-IAP25
: [Turn over


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

SPACE FOR ROUGH WORK

CCSEI-IAP25 156 I_’,


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

SPACE FOR ROUGH WORK
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This question hooklet contains 200 questions. You should not remove or lear off any aheet from this
question booklet.
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You are not allowed to take this question booklet and the answer sheet out of the sxamination
room during the time of the examination.

After the examination is over, you must handover your answer gheet to the Room invigilator and
you are allowed to take the guestion booklet with you.

Please write the Question Booklet number supplied to you in the OMR answer sheet. OMR
Answer Sheet will be invalidated if the GQuestion Booklet Number printed in the Question
Booklet supplied to you is not darkened correctly in the eorresponding bubbles. The @uestion
Baoklet Number darkened by the candidate 1 final

Answer ghest will be invalidated if other than Hack ink ball point pen is used for darkening the
OMR anewer sheet,
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